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1. The selling price of an article is Rs. 1920

and the discount given is 4%. The marked price of
the article is

(A) Rs. 2400
(B) Rs. 2000
(C) Rs. 1600
(D) Rs. 1200

2. APJ Abdul Kalam was a famous
(A) artist
(B) scientist
(C) chemist - ’
(D) actor oL ‘_

3. Ascorbic Acid is the scientific naine for
(A) Protein o
(B) Carbohydrate
(C) Vitamin C
(D) Vitamin D

4. The Right to Speech is considered as
 (A) Fundamental Duty

(B) Fundamental Right

(C) Fundamental Policy

(D) Sacred Right

5. The difference between the simple and
compound interest on a certain sum of money for
2 years at 4% per annum is Re. 1. Find the sum.

(A) Rs. 630
(B) Rs. 620
(C) Rs. 625
(D) Rs. 635

A.2 . ) ¥

1. G i 9w FReraees 28 1920 il @8
4% Tes crenl 2x | I8 4es =
(A) 2400 =
(B) 200051
(C) 1600 Bigt
(D) 1200 Bret

2. <PiE i A R 9w A

(A) Fst

(B) Tl Lo
: (C) I : ”;"

(D) wfee :

3. fasffde «aiba (el sifemr Ascorbic
Acid
(A) califo
(B) &
(C) TBifim C
(D) febifsi D

4. AT TR WP T wwsfo
(A) G wity
(B) N affwra
(C) Ghffis AfS
(D) «ifdq iy

5. %gﬂﬁmﬁ%@ﬁwaﬁm%%w

8 B R 0T eA 2 1 Bt | Bl sifdie
faefa =at

(A) 630 Bist
(B) 6205w
(C) 625 %=t

(D) 635 o



6. If %:J‘_ . then find the value of *.

7. The ratio of the quantities of a acid and
water in a mixture is 1 : 3. If 5 litres of acid is
further added to the mixture, the new ratiobecomes
1 : 2, the quantity of new mixture in litres'is

(A) 32
(B) 40
C) 42
(D) 45

8. The upper limit for West Bengal Student
Credit Card Scheme is

(A) Rs. 20 lakhs
(B) Rs. 15 lakhs
(C) Rs. 10 lakhs
(D) Rs. 5 lakhs

9. 75% of anumber when added to 75 is equal
to the number. The number is

(A) 150
(B) 200
(C) 225
(D) 300

10. The sum of four consecutive even numbers
is 748. The smallest among them is

(A) 188
(B) 186
(C) 184
(D) 174
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6. T %:L -, O H- 7 TR e A
12%

Ay 25
A) =

4
®) 25

© 4
(D) 25

7. =pifie @ wrem ARmTEE e wgse
1 : 315 Sreaifore 5 FivR wgiFe @@ Qs =0
=7, T ReID TS 7 1 : 2, 4 A Relba
oot wAfsst =
(A) 32
(B) 40
(©) .42
(D) 45

8. GTB (IR0 D (FFUH I @EmE oI e
i e A T =
(A) 20 7% Bl
(B) 15 &7 BiAl
(C) 10 == GBIl
(D) 5<% oidl

9. G AT 75% TAA 7597 I Q@19 T
7, ' Feifhe T 7 | WU =T
(A) 150
(B) 200
(©) 225
(D) 300

10. <% <15 vHl T FRYR FAB 748 | G
WA (R R 2=
(A) 188
(B) 186
(C) 184
(D) 174
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11:"A,Band C together can complete a piece of
workin 30 minutes. A and B togethercan complete
the same work in 50 minutes. C alone can complete
the work in

(A) 60 minutes
(B) 80 minutes
(C) 150 minutes
(D) 75 minutes

12. The recent UNESCO hentage .status ‘has
been given to .

(A) Ugadi

(B) Durga Puja

(C) Bihu o
(D) Bhadu Song R

13. Pipe A and B can fill a tank in 10 hours and
15 hours respectively. In how much time will they
together fill the tank?

1
A) 12= hrs.
(A) 5 brs

(B) 6 hrs.
(C) 5 hrs.
(D) 4hrs.

14, The Jaldapara Reserve Forest is located in
(A) Assam
(B) Odisha
(C) West Bengal
(D) Nagaland

15. The Nobel Prize for Literature in 2023 has
been awarded to

(A) James Cameron
(B) Orhan Pamuk
(C) Jon Fosse

(D) Ben Okri

A4 ‘

11. A, B € C 4312 956 w7 30 RFAG oig
WrA@Bw@mﬁsoﬁﬁﬁmwuc
G DG 1Y T

(A) 60 fif*d
(B) 80 G
(©) 150 fifads
(D) 75 RRG

12. 7726 [|OE'T A% (G @ SHAME
heritage O3 (reT 2

(A) Sl
(B) it =fent
(©) Re

(D) =t st

13. %% A <R B, 10 951 8 15 961 AP
< BIF <4 | O G TS 9B i ol
AL ]

(A) 12% ®BH
(B) 69
(C) 5%%!
(D) 495

14. TERIAIG TSR (7 S e
(A) ==
(B) aftmt
(C) sif*saet
(D) et -

15. 2023 3ite ARee) R Gites s i = ¢
(A) o IGEA
(B) 672 A®
(C) = T
(D) &= e

=




16. 60% students of a school are girls. If the
total number of girls in the school is 690, then the
total number of students in the school is

(A) 1150
(B) 1100
(C) 1200
(D) 1050

~ 17. Sea Salt contains
(A) Protein
(B) lodine
(C) Nicotine
(D) Vitamin

18. The Grant of Diwani was given to the
English East India Company in

(A) 1764
(B) 1765
(C) 1771
(D) 1772

19. The supreme insurance regulator of India is
the ‘

(A) IRDA
(B) PFDA
(C) CRIDA
(D) CRISIL

20. The Palk Strait separates India from
(A) Indonesia
(B) Sri Lanka
(C) Thailand
(D) Maldives

A-5
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16. (R FEE WARATH 60% W | T e]
FF @ 690 T WA AT, T €2 FH G
A A AR A

(A) 1150

(B) 1100

(C) 1200

(D) 1050

17. Tl FE @ < oW et 3.
(A) calfor
(B) WA
(C) F=ifes
(D) foBitm

18. (ASTIRE 7 23S 25 2feal =T @
AN 2 T 2
(A) 1764
(B) 1765
(©) 1771
(D) 1772

19. erEeIEa A I fFTEe AR TE 2|
(A) IRDA
(B) PFDA
(C) CRIDA
(D) CRISIL

20. % SR SeIET A @ oiba S
Wi T3

(A) TR
(B) &ers
(C) QTS

(D) WeTast
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21. The Portuguese were ousted from Bengal
by
(A) Mir Jumla
(B) Shaista Khan
(C) Mir Qasim
(D) Faiz Khan

22. TheHindu College was founded in the year
(A) 1818
(B) 1817
(C) 1819
D) 1820

23. If781is divided into three parts which are in

1

the ratio 1 : = %, then middle part is

1
&) 95
®) 13
1
(© 175

1
(@) 18-

24. The Capital of British India was shifted
from Calcutta to Delhi in

(A) 1910
B) 1911
(C) 1912
(D) 1913

25. TheFirst General Elections were conducted
in Independent India in

(A) 1951
(B) 1952
(C) 1953
(D) 1954

'A-6

2L IR (0T g R s
BT FE
(A) = gE=
(B) *Twest <y
(C) Taafiw
(D) =G U=

22. g et e 2t @ i
(A) 1818
(B) 1817
(C) 1819
(D) 1820

23. 3w 78 TAore B s Row 21 2,

AR A 1 ; % : é,'@'ﬁﬂﬁl‘*fﬁﬁ@

1
A 93
(B) 13

1
© 175

1
(D) 18

24, @ﬁwmﬁ@@m@mwﬁmww
(A et Fefte o
(A) 1910
(B) 1911
(C) 1912
(D) 1913

25, m%wawmmﬁamsamw
(A) 1951
(B) 1952
(C) 1953
(D) 1954




26. A train 280 m long is moving at a speed of
60 km/hr. What is the time taken by the train to
cross a platform 220 m long?

(A) 45 sec
(B) 30 sec
(C) 40 sec
(D) 35sec

27. Seismograph is used for measuring

(A) Tsunami

(B) Earth Quake

(C) Volcanic Eruption
(D) Cyclone

28. A sum of money at simple interest amounts
to Rs. 1350 in 5 years and to Rs. 1620 in 8 years.
The sum of money is

(A) Rs. 700
(B) Rs. 800
(C) Rs. 1000
(D) Rs. 900

29, Pratapaditya was the ruler of

(A) Tharkhand
(B) Jessore
(C) Barisal
(D) Natore

30. The Hirakud Dam is situated on the river

(A) Godavari
(B) Krishna
(C) Cauvery

. (D) Mahanadi

§ "
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26. 280 o e <6 G 60 i/ =0t (3!
sifiet | 220 s e GG 25T Siow $90S
(GwioR F© AW A2

(A) 45 CLFD
(B) 30 Gt
(C) 40 FTT
(D) 35 T

27. BermaT TEE @ P T IITS W

(A) TR TR
(B) g&#H sifetist
(C) wigieite

(D) T ¥ TR

28, TFE ¥, (RIG B S5 = 1350 BIF 0@
8 Ta7E 1620 B I < | 9 B e =8

(A) 700 Bl
(B) 800 Tis
(C) 1000 B
(D) 900 Bist

29, gwliFe; @ T =P o™

(A) Frede

(B) T

(C) R
(D) -WHHE

30. R Y @ M9 89T (e TR

(A) CimRET

(B) T
(C) FEA

(D) TR
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"31. Neel Darpan was written by
(A) Rajanikanta Das
(B) Dinabandhu Mitra
(C) Mukunda Das
(D) Chittaranjan Das

32. The Earth consists of three-fourth water
and one-fourth land, which is

(A) false

B) true

(C) partly true

(D) not scientifically proved

33. The 25th term of the series 2, 5, 10, 17
26, ...1is

(A) 626
(B) 323
() 424
(D) 525

34. The present Secretary-General of UNO is
(A) Kofi Annan
(B) Butros Butros Ghali
(©) Antonio Guterres
(D) None of the above

35. A man bought 20 dozen eggs for Rs. 720.
What should be the selling price of each egg ifhe
wants to make a profit of 20%?

(A) Rs. 325
(B) Rs.3-30
(C) Rs. 3-60
(D) Rs. 350

A-8

31. Semefd 9EfBa FTIF 2R
(A) TERIFE 7
(B) Wiy B
(C) FFawe
(D) foeagm wim

32. “off AT o7 1ol oot =R G ol T, G
B ~
(A) =g
(B) 1%y
(GRINE
(D) I TR ol i

33, 2,5, 10, 17, 26, ...
(A) 626
(B) 323
(C) 424
(D) 525

Ffaioa 259 oG =

34, IEAM FYR TPIBT 2@
(A) IR S
(B) M TEPT A
(C) ©isiiie areEm
(D) Toima o3 7

35. 720 OISH 9F JF 20 wore [ Rwee | 7
TS 20% =11 ¢o1t b1 o 2T oo Rerwags
Fo7? '

(A) 3-25 5=l
(B) 3-30 Gint
(C) 3-60 Brt
(D) 3-50 it




36. In how many years will a sum of Rs. 3000
yield a simple interest of Rs. 1080 at 12% per
annum?

(A) 3
1

®) 25

(©) 2

1
®) 3

37. An amount will double itself in 16 years at
a certain rate of simple interest per annum. The
rate of interest per annum is

(A) 10%
lg,
®) 6%
(©) 8%
1
®) 12,%

38. The Shanti Swarup Bhatnagar Award is
given for
(A) Performing Arts
(B) Peace
(C) Science and Technology
(D) Sccial Service

39. Two numbers are in the ratio 3 : 5 and their
LCM is 225. The smaller number is

(A) 45
(B) 60
(©) 75
(D) 90

40. The UNESCO Award for Kanyasree had
been given to
(A) Andhra Pradesh
(B) Tamil Nadu
(C) West Bengal
(D) Assam
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36. O TR 3000 DI AHART 12% X 77
% 1080 Bt T2
(A) 3

1
(B) 7—'2—
© 2

1
D) 3 5

37. Qi T g RS 2T 16 IR (I BI
7 foedt @, AR TR TR A
(A) 10%

(B) 6%%
(C) 8%
1
lg,
®) 125

38, =Iif% ¥l SR JTEH I T (SN W
(A) FEe
(B) =i
(C) T o ayfe
(D) e Gt

39. B eI SIS 2 3 1 5 UK SRS 1AL,
= 225 | (0! R =
(A) 45

(B) 60
(© 75
(D) 90

40. TR 2AFw Coprw FEER T
T AT (A FFO FA W
(A) S
(B) ofEmIT
(C) +feTa=
(D)
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~41. 20% loss on selling price is what per cent
loss on the cost price?

(A) 25%
(B) 15%

©) 16%%

D) 16%%

42, The last and the tenth Guru of the Sikhs had
been

(A) Guru Teg Bahadur
(B) Guru Hargovind
(C) Guru Gobind Singh
(D) Guru Har Kishan

43, If the cost of 18 chairs is equal to selling
price of 16 chairs, then the gain percentage is
(A) 125%
B) 13%
(C) 13-5%
(D) 14%

44. In an examination, 93% of students passed

and 259 failed. The total number of students -

appearing at the examination was
(A) 3700
(B) 3850
(C) 800
(D) 1000

45. The Doctrine of Lapse was introduced by
(A) Lord Comnwallis
(B) Lord Wellesley
(C) Lord Dalhousie
(D) Lord Clive

3

A-10

41. REmErn B4 209% =R 2@, FnEm
Tt 0 oI HS A

(A) 25%
B) 15%

©) 16%—%

(D) 16%%

42, T TR W 93 SR o R
(A) oF (5 AQH '
(B) o Zauifaw
(C) oF o Big
(D) w% 2q feam

43. 3 18% oFET FEIE 168 cIE
(A) 12:5%
B) 13%
(©) 13-5%
(D) 14%

44, <3 AN, 93% T S FEE GR 259
T R (T IR €% FAr Wi vew Tg
CoAfgs foer e

. (A) 3700
(B) 3850
(C) 800
(D) 1000

45. TQETE e A R e Bew
(A) =76 F{eqFH
(B) &% eratemie
(C) =16 e
(D) =€ FiR®

r
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(®




46. 1f738A6A isdivisible by 11, then the value
of Ais

(4) 6
®) 9
(© 3
®) 1

47. If the ratio of the cost price and the sale
price of an article be 5 : 6, the percentage of gain
is

(A) 25%
(B) 20%
(C) 18%
D) 15%

48. The Sreerampore Trio comprised of
(A) Clive-Watson-Watts
(B) Carey-Marshman-Ward
(C) Lal-Bal-Pal
(D) Hastings-Cornwallis-Shore

49, If% of A = 75% of B = 0:6 of C, then
A:B:Cis

(A) 9:5:4

(B) 9:4:5

(C) 4:5:9

D) 5:9:4

50. The Small Pox Vaccine was invented by
(A) Joseph Lister
(B) Ronald Ross
(C) Edward Jenner
(D) Jonas Salk

Cam
-
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46. 1% 738A6A 7 11 7= Reiey &, o3
A~ A
A) 6
®B) 9
() 3
(D) 1

47, T @I 3T FHED 8 RFTens o e
5 : 6, U ST (ST WA
(A) 25%
(B) 20%
© 18%"
(D) 15%

48, Siarera 9 A I +AfRe frem
(A) FiS-€HBA-GTGH
(B) F-sfae-eure
(C) FF-IET-HEA
(D) @PBFA-INeATH-CIE

49. T A9 % = B89 75% = C-9 0+6, T2
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51. Two successive discounts of 10%, 20% are
given on the cost price of an article. Selling price
now is Rs. 720. Cost price of the article is

(A) Rs. 1000
(B) Rs. 1200
(C) Rs. 900
(D) Rs. 1100

52, The ratio between two numbers is 2 : 3. If
each number is increased by 4, the ratio between
them becomes 5 : 7. The difference between the
numbers is

(A) 8

B) 6
©) 2
(D) 4

53. If the numerator of a fraction is increased
by 20% and the denominator is decreased by 10%,

16
the value of the fraction is 21 The original
fraction is -

(A)
®)
(©)

(D)

LW L s 3w

54. The book Arthashastra was written by
(A) Baudhayana
(B) Chanakya
(C) Panini
(D) Patanjali

55. The Aravalli Mountains are located in
(A) Jharkhand
(B) Rajasthan
(C) Afghanistan
(D) Bihar

A-12

51. (AT LT FAEHR 8T YA IO

S 10% @ 20% e 63 7= Reraen = 720
Bi | 6% T TV

(A) 1000 B
(B) 1200 Gi<
(C) 900 Bi
(D) 1100 Sl

52, qMRBE GG 2: 3 157 dreT Rt 4 T
qﬁm,wmwmqﬂsmﬁwiﬁawf
(A) 8
(B) 6
© 2
(D) 4

53. M 436 Sikea 71 20% & W ek =

16
10% B 7T, o S g o7 Ereie
B3

(A)
(B)
©

(D)

W L s < w,

54. oLy siefoa @9e e w
(A) s
(B) BT
(©) A
(D) ~fogfe ‘.

55. i SRfeNE @ e
(A) oo
(B) ez
(C) =it
(D) =R

S




56. Discovery of India was the work of
{A) Mahatma Gandhi
(B) Kalidas
(C) Jawaharlal Nehra
(D) Badshah Khan

' 57. The volumes of two cylinders are in the
ratio 3 : 8 and their heights are in the ratio 2 : 3.
Then the ratio of their radius is

(A) 3:8
(B) 4:3
(©) 2:3
(D) 3:4

58. % of 64 + 30% of 7 = 121

(A) 270
(B) 250
(©) 125
(D) 225

59. The two west-flowing rivers of India are
(A) Krishna and Godavari
(B) Brahmaputra and Ganga
(C) Sone and Chambal
(D) Narmada and Tapti

60. Iftheradius of acircleisincreased by 10%,
then percentage of increase of its area is.

(A) 17
B) 21
© 12
(D) 15

A-13 " BMRI22

56. ‘Teweellz e A ayle =T e
(A) T Sl '
(B) =i
(C) SZFAR (I
(D) AR <

57, %% PifEreiaa Smera e 3 : 8 @2
IR S SRS T 2 : 3 | SITRE AR Sgeire
= : ‘
(A) 3:8
(B) 4:3
© 2:3
(D) 3:4

58, 64-47 % + 947 30% = 121

(A) 270

(B) 250
©) 125
(D) 225

59. oarea 4o ARew Sfe T 7w @
(A) T € (MRS
(B) g @XMt
(C) ¢ '8 o
(D) Wt 938 ifes

60, I Al Joaw P 10% AN, O
Jelbq CraTETE I ol &
(A) 17
(B) 21
© 12
(D) 15
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61. Insulin is secreted from
(A) Liver
(B) Pancreas
(C) Stomach
(D) Brain, |

62. The value of xwhen 5% of /2 x is0-01 will
be °,
(A) 003
(B) 0-02
(C) 001
(D) 0-05

63. Divide Rs.450among A, B and C such that
A:B=2:3andB:C=6:5. Share of Cis
{A) Rs. 90
(B) Rs. 100
(C) Rs. 150
{D) Rs. 120

64. If ab, bc, x and ¢? are in proportion, then
find the x, if none of these is equal to zero.

(A) aic
(B) c?a
(©) ac

(D) azc?

65. The difference of 576 and 2-5 is
(A) 254
(8) 373
(C) 3-46
D) 3-43

A-14

61. TTEW T @ =¥ (T oo =
(A) Frem
(B) sin=feram
(C) =FZR
(D) wi¥®

62. T /2 x 99 5% T 0-01, O4 x- A A LA
(A) 0-03 '
(B) 002
(C) 001
(D) 0-05

63. 45051F1F A, B 93 C-97 T GFToIE i
PAOTIF@A :B=2:34RB:C=6:51C~49
ol =

(A) 90 it
(B) 100 B
(C) 150 BrA
(D) 120 5=l

64. MM ab, be,x'3 C2SFATS AT, T x~Ga o
e T, I Tt it =y =311

(A) a?c

(B) c2a

©) ac

(D) a%c?

65. 5-76 @ 2-3-99 9EI T
(A) 2-54
(B) 3-73
(©) 3-46
(D) 3:43




66. The United Nations Day is celebrated every
year on

(A) October 25
(B) October 24
(C) September 5
(D) July 4

. 67. Findthelastterminthe following numbers:
230, 246, 271, 307, ?
_(A) 412
(B) 356
" (O 518
D) 612

_68. The vaccine for Kala-azar was invented by
(A) Amalesh Tripathi
(B) Upendranath Brahmachari
(C) Hargobind Khorana
(D) Shanti Swarup Bh?.tnagar

69. Megasthenes was the author of
(A) Milinda Panho
(B) Indika
(C) Periplus
(D) Tarikh

70. Amanbuyssomearticles atRs. Pperdozen

P
and sells them at Rs. “g" per piece. His profit

per cent is
(A) 30%
(B) 40%
(©) 50%
(D) 60%

A-15

BMRI/22

66. AFRY M #ifere o Afbemzm
(A) 25 SIRA
" (B) 24 ©E@ERT
(C) 5 GBI
D) 4TI

[

67. Sufafde wyralm o wE R e
230, 246, 271, 307, ?
(A) 412

(B) 356
(C) 518
(D) 612

68. IEgET Dol wREEEs v =
(A) ot faifd
(B) Sroigald I=mIal
(C) AR i
(D) i Fmet Sion1sia

69. GiolicEer Tt WS stgg AW
(A) R st
(B) R
©) cifdam
(D) effad

70. &F JTE 4T B A P BIHE @R 928

ol oot - D1 R s | o o T
(A) 30%
(B) 40%
(C) 50%
(D) 60%
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71. Who was killed by the ‘Deccan Ulcer’?
(A) Akbar
(B) Babur
(C) Aurangzeb
(D) Shah Jahan

72. The square root of (l) X [-1—) —-(g) is
4} \49 121
11 - '

5
11
BY —
.()70

7
(&) m

11
(D) 7

(A)

73. Kabuliyat and Patta were introduced by
(A) Akbar
(B) Sher Shah
{C) Babur
(D) Aurangzeb

74. A man sells two chairs at Rs. 120 each and
by doing so gains 25% on one chair and losses 25%
on the other. His loss on the whole in Rs. is

(A) 20
(B) 16
(©) 25
(D) 30

75. The single discount, which is equivalent to
three successive discounts of 25%, 20% and 10%
is

(A) 46%
(B) 54%
(©) 55%
(D) 45%

A-16

71. FEFTER w9 @R AT [PF TR
mﬁﬁ? e
(A) W
(B)
(C) SesTed
(D) EH[A

72. (l) x (l) + (ﬁjﬁaa i

4/ \49/ \121
(A)

(B)

==

©

[
[SSae

D)

~|

73. FIFTES @ S5 T @ > bre] =1 foff
/=
(A) SIIF
(B) iE =z
(C) =T
(D) SeRTEI

74, &S & 120 G b GRS arereh [id
FE GRG0 GAIE 25% TS I S SPHe 25%
S P | (S O =S g Grem)

(A) 20 '
(B) 16
(C) 25
(D) 30

75. <@ Roies, I R T Rpies
25%, 20% SR, 10%-49 T <H, ©f T3
(A) 46%
(B) 54%
(C) 55%
D) 45%
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76. If the cost price of 10 articles is equal to the
selling price of 16 articles, then the loss per cent is

(A) 37:5%
B) 30%
(C) 42:5%
(D) 45%

77. One Horse Power is equivalent to
(A) 745 watts
(B) 746 watts
(C) 750 watts
(D) 751 watts

78. ONGC is involved in
(A) Space Research
(B) Medicines
(C) 0Qil Exploration
(D) Defence

79. A and B together can do a piece of wbrk in
12 days while B alone can finish it in 30 days. A
alone can finish the work in

(A) 15 days
(B) 18 days
(C) 20 days
(D) 25 days

80. What is the smallest number that must be
added to 1780 to make it perfect square?

(A) 39
(B) 69
©) 59
(D) 49

A-17 BMRI22

76. 101 79 FwEs I 1616 397 Reraqem

(A) 37-5%
(B) 30%
(C) 42:5%
(D) 45%

77. O3 e 2=
(A) 745 watts
(B) 746 watts
(C) 750 watts
(D) 751 watts

78. ONGC AZIb (1 Sl 7% I
(A) I s{ret
(B) €3y
(C) T ST
(D) efom=

79. A8 B <35 9% 12 f 1 @ B 9163
FIEH 30 M R T A G 6% BIEH 8 I
(A) 15 fam
B) 18 =
(©) 20w
(D) 25 faw

80. 1780 6T MY TIA4TF T© @ot T
TP 9T <53l 7yt e
(A) 39
(B) 69
(C) 59
(D) 49

Please Turn Qver
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81. The Prime Minister of UK is 81, TS 4R T
(A) David Cameron (A) (SST FITE
(B) Boris Johnson B) 3R TP
{C) Rishi Sunak
G
(D) Teresa May (© ¥R o=
(D) BT &

82. Beri-Beri disease is on account of the 82, TfERe ol ot /F-'R @

deficiency of B q
(A) Vitamin A (A) ToBIRM A y ‘
(B) VitaminB ®) s B i
(C) Vitamin C © c !
(D) Vitamin D !
(D) fE5fm D !
83. Bill Gates and Paul Allen are associated 83, 35 (5651 7R o SHieew @ W @ AR
with one of the following institutions: AR G 3
(A) Google (A) Google
(B) Apple (B) Apple
(C) Microsoft _ (C) Microsoft
(D) IBM (D) IBM
84. If a * b = a?, then the value of 5 * 3 is 84, M a*b=a" W, TW5* 3G
(A) 125 (A) 125 '
(B) 243 ®) 243
(C) 33 . (©) 53 :
(D) 15 - D) 15 j

85. The Calcutta Medical College was 85. FhEel Gt awEe 4o @i @

established in the year A&
(A) 1834 ' (A) 1834
(B) 1835 (B) 1835
(C) 1838 (C) 1838
D) 1839 (D) 1839




86. By sclling an article for Rs. 1400 a man lost

30%. At whatamount should he have sold it to gain

30%?
(A) Rs. 2600
(B)_Rs. 1500
(C) Rs. 1800
(D) Rs. 2000

87. One of the following countries is not a
permanent member of the United Nations Security
Council.

(A) USA
(B) England
(C) China
(D) Japan

(23)’ -0-027
88. Whatisthevalueof 2 ?
(2-3)" +0-69+0-09

(A) 03
(B) 23
© 1
D) 2

89. The Arabari Model for Forest Conservation
was undertaken in the state of

(A) Qdisha

(B) West Bengal

(C) Kerala

(D) Sikkim !

90. [%J th of (%) th of a numberis 240, What

is the number?
(A) 12
(B) 1200
(C) 48
(D) 4800

A-19 BMRI/22

86. &6 3@ 1400 S REF Faw g5 giea
30% =fo e | v S Tl Ritr v 92
F[iEd 30% Fe TH P

(A) 2600 it
(B) 1500 Gt
(C) 1800 B/
(D) 2000 Brt

87. FfRe =80 AT Parta AfRaom
B T 7 |
(A) FT gouig
- (B) &I
. (C) W
(D) wAR

" (23) —0-027

(2-3)> +0-69+0-09
(A) 03

(B) 23

1

(D) 2

88.

R ERICE CH

89. I IRPHIR CFLL MHHRS Teo BRI

WO AT

(A) efedtt
(B) st
©) amE
(D) Ffew

90. (A RANA (%)ﬂsrsr (%) w240 27,

O A6 T

(A) 12

(B) 1200

(C) 48 ‘
(D) 4800

Please Turn Over
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91. The Reserve Bank of India was founded in
(A) 1935
(B) 1934
(C) 1936
(D) 1937

92. Loktak Lake is located in the state of
(A) Sikkim
(B) Manipur
(C) Nagaland
(D) Mizoram

93. A mixture of 40 litres of milk and water
contains 10% of water. How much water must be
added to make the water 20% in the new mixture?

(A) 10 litres
(B) 7 litres
(C) 5 litres
(D) 3 litres

94. Thespeed of abusis 72 km/hr. The distance
covered by the bus in 5 seconds is

(A) 50 m
(B) 745 m
(C) 60 m
(D) 100 m

95. Bagha Jatin was the nickname of
(A) Narendranath Bhattacharya
(B) Jyotindranath Mukherjee
(C) Troilokka Maharaj
(D) Bipin Chandra Pal

91. siares fFars ax afefre =
(A) 1935
(B) 1934
(C) 1936
(D) 1937

92. (FAIFHIS T¥ (@ AT TAZS
(A) TR
(B) wfefa
(C) eiemTe
(D) fretam

93. Wy @ TeTd @3 40 bR fwt 10% o=
ite | B oA T cst FaE w9 e 20% E@
QI ?

(A) 10 f&ora
(B) 7 fora
(C) 5 o
(D) 3 o=

94, 3 ACE offe = 72 Bf/s b 5
GRS @ AY oy FAE—
(A) 50 fiBra
(B) 745 fiorE
(C) 60 fii5iE
(D) 100 fiora

95, fsfafls waE e wim <ffifoe
farem

(A) Y SEHR
(B) cenifemgaie &
(C) A= TS
(D) fafeiw v A=
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, |
96. The largest numberamong 2-6,2-066,2-66, 96. 2-6, 2:066, 266, 208 AL &y TV
2:08 is )Y ==
(A) 26 (A) 2:6 |
B) 2-66 (B) 2:66
(C) 2-066 (C) 2:066
(D) 2-08 ' (D) 2:08
" 97. The Asiatic Society of Calcutta was founded 97. el Fe i Gk awrE dfefe
in the year £
(A) 1784 (A) 1784
(B) 1785 (B) 1785
(C) 1786 (C) 1786
(D) 1792 (D) 1792

98. The filament of an electric bulb is made of 98. e AT Femars @ «igd tofF it =

(A) Hydrogen (A) QXEITEA
(B) Tungsten (B) Biwod
(C) Halogen (C) TS
(D) Mercury
(D) *itgm
99. If 90% of A =30% of B and B =x% of A, 99, It A~99 90% = B~49 30% AR B = A4
then the value of x is x% 2F, T4 x- A9 A W
(A) 300 (A) 300
(B) 800 (B) 800
(C) 700 (C) 700
(D) 400 (D) 400

100. A boat can run 13 km/hr in still water and 100. <= (TR Faera ez 13 /a6 g

{ speed of current is 4 km/hr. In how many hours the g TN sifs =¥ 4 /9% e S
boat will cover 68 km downstream?

I 68 FHR @Te T T%) T FSi ?
(A) 2
(A) 2
(B) 3 (B) 3
© 5 ©) 5
(D) 4

(D) 4
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P3l. A man sells two chairs at Rs. 120 each and
by doing so gains 25% on one chairand losses 25%
on the other. His loss on the whole in Rs. is

(A) 20
@B) 16
(©) 25-
D) 30

2. Loktak Lake is located in the state of
(A) Sikkim
(B) Manipur
(C) Nagaland
(D) Mizoram

3. Thelastand the tenth Guru of the Sikhs had
been

(A) Guru Teg Bahadur
(B) Guru Hargovind
(C) Guru Gobind Singh
(D) Guru Har Kishan

4. APJ Abdul Xalam was a famous
(A) artist
(B) scientist
(C) chemist
{D) actor

5. Neel Darpan was written by
(A) Rajanikanta Das
(B) Dinabandhu Mitra
(C) Mukunda Das.
(D) Chittaranjan Das

1. 9% & 120 B 46 GAET ool [
P AR G0 GANT 25% 1S I S S0 25%
= $1 | (Il OiF e 73 (Giem)

(A) 20
(B) 16
© 25
(D) 30

2. 6T qH (@ [T SO
(A) Tl
(B) W=7
(C) wsileTs
(D) Freray

3. R SRR W 998 TN o e
©(A) @F (99 AR

(B) s gacsiifw

(C) o coiifdm g -

(D) ©F 73 ™A

4. QEITET SR I BEw GFea 2te
(A) Wit
B) =i
(C) FImRw
(D) Sfscat

5. lemel gbd 19F o
(A) TERPIE 77
(B) Wt i
(©) T v
(D) foeaem =




6. Iftheradius ofacircleis increased by 10%,
then percentage of increase of its area is

(A) 17
®B) 21
(C) 12
D) 15

7. TheFirst General Elections were conducted
in Independent India in
(A) 1951
(B) 1952
(C) 1953
(D) 1954

8. 60% students of a school are girls. If the

total number of girls in the school is 650, then the |

total number of students in the school is
(A) 1150
(B) 1100
(C) 1200
(D) 1050

9, Ascorbic Acid is the scientific name for
(A) Protein
(B) Carbohydrate
(C) VitaminC
(D) Vitamin D

10. 20% loss on selling price is what per cent
loss on the cost price?

(A) 25%
(B) 15%

© 163;-%

(D) 16%%

6. aﬁmmwma‘lo%qﬁﬂm T
- el creEE A eI
(A) 17
(B) 21
() 12
D) 15

7. =B oFres 4YN g Fdfon = @ A
(A) 1951 '
(B) 1952
(C) 1953
(D) 1954

8. mwmﬁo%ﬂmﬁ@
gﬁmﬁsgomsﬁm W‘G'?z?ﬁﬂﬁ
BRI TRy 2

(A) 1150
(B) 1100
(C) 1200
(D) 1050 T

9. W@WWWASWrbm

- Acid

@) caia.

(B) =&l

(©) feuthm C
(D) FofRmD

10. R Boig 20% o F, THER

- Bl T H{OI S TR?

(A) 25%
(B) 15%

©) 162%
.3
D) 16%%

“ PleaQq Turn Over
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11, DivideRs-450 among A, B and C such that
A:B=2:3andB:C=6:35. Share of Cis
(A) Rs. 90 -
(B) Rs. 100
(C) Rs. 150
(D) Rs. 120

12. The Sreerampore Trio comprised of
(A) Clive-Watson-Watts
(B) Carey-Marshman-Ward
(C) Lal-Bal-Pal
(D) Hastings-Cornwallis-Shore

13. The Jaldapara Reserve Forest is located in
(A) Assam
(B) Odisha
(C) West Bengal
(D) Nagaland

14. Pipe A and B can fill a tank in 10 hours and

15 hours respectively. In how much time will they
together fill the tank?

1
A) 12= hrs.
(A) 12 hrs

(B) 6 hrs.
(C) 5 hs.
(D) 4 hrs.

15. The two west-flowing rivers of India are
(A) Krishna and Godavari
(B) Brahmaputra and Ganga
(C) Sone and Chambal
(D) Narmada and Tapti

B4 -

11. 450TI9S A, B 9% C~99 W14 TSI ©l5
FNOTI@A:B=2:39RB:C=6:5)C9q
oiot 2

(A) 90 izt
(B) 100 it
(C) 150 Brat
(D) 120 5t

12. S=weim R qie I sfafe few
(A) FiRS-GAGAT-GTGH
(B) GER-TEH-enE
(C) FHiei-tei-sitet
(D) EForr-femEm-cig

13. SISl TSR (¥ 0w SRS
(A) =R
(B) e
(C) o
(D) Aii=pre

14. #iizsl A @3 B, 10 9% 8 15 955 I

B GiIE +|f A | S G T TG Girgf ol
TAA?

(A) 12%‘:@
(B) 6 9<%t
(C) 59%i
(D) 49t

15. ©iares vib #Ifow oA J@q 7w ==
(A) F8 @ (st
(B) Tiolg R sizwl
(C) o7 @ 5e
(D) 7 e ©ify




16. The Palk Strait separates India from
(A) Indonesia
(B) SriLanka
(C) Thailand
(D) Maldives

17. A, B and C together can complete a piece of
work in 30 minutes. A and B together can complete
the same work in 50 minutes. C alone cancomplete
the work in

(A) 60 minutes
(B) 80 minutes
(C) 150 minutes
(D) 75 minutes

18. The Grant of Diwani was given to the
English East India Company in
(A) 1764
(B) 1765
(C) 1771
D) 1772

19. If the cost of 18 chairs is equal to selling
price of 16 chairs, then the gain percentage is .

(A) 12:5%
B) 13%
(C) 13:5%
(D) 14%

20. A sum of money at simple interest amounts
to Rs. 1350 in 5 years and to Rs. 1620 in 8 years.
The sum of money is

(A) Rs. 700
(B) Rs. 800
(C) Rs. 1000
(D) Rs. 900

BMRI/22

16. 7% LI SR FA @ crIR Tt
fAdiad 3@
(A) TR
(B) St
(C) TS
(D) TeTaiet

17. A, B ¢ C @3 @b 31w 30 FifG i1
FE | A8 B 9T 6% i 50 T R FE1C
G FE0 18 T

(A) 60 Ffes
(B) 80 ffi5
(C) 150 fif s
(D) 75 FfG

18. Cremifg S 2RGS0 2wl riRE @
NE i TN -
(A) 1764
(B) 1765
(©) 1771
(D) 1772

19, =% 18% WEF FIEn 16T GAEI
(A) 12-5%
(B) 13%
(C) 13-5%
(D) 14%

20, T4 07 GO BIPE 5 T 1350 5ol 7
8 II@ 1620 Bl 7% 27 | 62 BB ARt =
(A) 700 B
(B) 800 Bl
(C) 1000 Bt
(D) 900 i

Please Turn Over
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“21. The Calcutta Medical College was
established in the year

(A) 1834
(B) 1835
(C) 1838
(D) 1839

22. If a* b= g”, then the value of 5 * 3 is
(A) 125
(B) 243
(©) 53
(D) 15

23. The Shanti Swarup Bhatnagar Award is
given for

(A) Performing Arts

" (B) Peace
(C) Science and Technology
(D) Social Service

24, The filament of an electric bulb is made of
(A) Hydrogen
(B) Tungsten
(C) Halogen
(D) Mercury

25. If90% of A =30% of B and B = x% of A,
then the value of x is

(A) 300
(B) 800
(C) 700
(D) 400

B-6'

21, e it sem afeie e @

e B
(A) 1834
(B) 1835
(C) 1838
(D) 1839

22, I a* b=ab W O 5 * 3 qA T
(A) 125
(B) 243
(©) 53
(D) 15

23. *iif% Fhot ©HAIT <[THT 9 & e =]
(A) Pt
B) «if¥
(©) R e a7fe
(D) F=iE Gt

24, Twjfes ATTE RetierS @ e ool Gilt ==
(A) Qe
B) S
(C) TR
(D) #im

25. M A~9F 90% = B-49 30% 9% B = A~43
x% TH, ©Y x-a9 07 =]
' (A) 300
(B) 800
(C) 700
(D) 400




. 26, One of the following countries is not a
permanent member of the United Nations Security
Council,

(A) USA
(B) England
(C) China
(D) Japan

27. Pratapaditya was the ruler of
(A) Jharkhand
(B) Jessore
(C) Barisal
(D) Natore

28. The ratio between two numbers is 2 : 3. If
each number is increased by 4, the ratio between
them becomes 5 : 7. The difference between the
numbers is

(A) 8
(B) 6
© 2
(D) 4

29, What is the smallest number that must be
added to 1780 to make it perfect square?

(A) 39
(B) 69
(©) 59
(D) 49

30. The Capital of British India was shifted
from Calcutta to Delhi in

(A) 1910
(B) 1911
(€) 1912
(D) 1913

B-7
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26. FafRe gl ks Fade sfkEeE
8 A0 7 |
(A) wifF Feaig
(B) 2ETE
(C) P
(D) TN

27. geiriiine (@ AT = foreW
(A) gs
(B) TN
(C) af=
(D) «NGE

28, RSN 2 : 3 1M AT R4 IR

% A, Y IR SR 7 5+ 7 | TR Y

£ .
(A) 8
B) 6
© 2
(D) 4

20, 1780 FRYIBA MY TAATF TF© @A FAE
NG @ ojofaef A 7A?
(A) 39
(B) 69
. (C) 59
(D) 49

30, R ibre oaeara AN @ AIE Ferhs!
e TEce gReie =
(A) 1910
(B) 1911
(C) 1912
(D) 1913

Please Turn Over
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31. The Portuguese were ousted from Bengal
by
(A) Mir Jumla
(B) Shaista Khan
(C) Mir Qasim
(D) Faiz Khan

32. The vaccine for Kala-azar was invented by
(A) Amalesh Tripathi
{(B) Upendranath Brahmachari
{© Hargob'ind Khorana
(D) Shanti Swarup Bhatnagar

33. The Arabari Model for Forest Conservation
was undertaken in the state of

(A) Odisha
(B) West Bengal
(C) Kerala
(D) Sikkim

34, The square root of (l) ( 1 ) [ 25)
4/ \49 121

(A)
®)
©
(D)

% of 64 + 30% of ? = 121

(A) 270
(B) 250
©) 125
(D) 225

- 35.

B-8

31, R A gl {F wvfem
BeAre W
A) T g
(B) =it AW
(©) Tz ™
(D) ¥ I

32. JleTecad o e =i 5
(A) STEpT {Goifd
(B) SreiEmiY FEHIN
(C) zeaitfRw el
(D) *iff& T SlGaisia

33, IR Cwg RS Il SR
G I 9

(A) efem
(B) =if5aae
(C) et
(D) =

34, (i—)x %J ( 12251 )-ﬁﬁ‘?ﬁﬁﬁ@
1

3

35. 6449

(A) 270
(B) 250
(©) 125
(D) 225

+ 49 30% = 121




36. The difference of 5-76_and 2:3is .
(A) 2-54
B) 3-73
(©) 3:46
(D) 3-43

37. The Right to Speech is considered as
(A) Fundamental Duty
(B) Fundamental Right
(C) Fundamental Policy
(D) Sacred Right

38. A man bought 20 dozen eggs for Rs. 720.
What should be the selling price of each egg if he
wants to make a profit of 20%? -

(A) Rs. 325
(B) Rs. 330
(C) Rs.3-60
(D) Rs. 350

39. Two numbers are inthe ratio 3 ; 5 and their
LCM is 225. The smaller numberis

(A) 45
(B) 60
© 75
(D) 90

40. In an examination, 93% of students passed
and 259 failed. The total number of students
appearing at the examination was

(A) 3700
(B) 3850
(C) 800
(D) 1000

B9 BMRI/22

-36.-576 @ 2.3~ @GN ol L
(A) 254
@) 373
(C) 3-46
(D) 3-43

37, A% FRTOR SRR T wresfo
(A) e wifig
B) e wfEia
(C) i AfS
(D) <= gt

" 38, 7205E @F e 20 o o e |
el 20% 7S (it o1 O 2ol oo Remgs
F9?
(A) 325 il
(B) 3-30 1
. (©) 3605
(D) 3-50 B

39, 6 YT SAS = 3 : 5 GR O 7S,
TN 225 | I WYL =
(A) 45
(B) 60
(C) 75
(D) 90

40. 4B ARHE, 93% T AN (IR 9R 259
o B T WRE| ] ATEE (I FeeH 7Y
ToifFs fezi e '

(A) 3700
(B) 3850
(C) 800

(D) 1000

Please Turn 0ve1;
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41. Megasthenes was the author of
(A) Milinda Panho
(B) Indika
(C) Periplus
(D) Tarikh

42. In how many years will a sum of Rs. 3000

yield a simple interest of Rs. 1080 at 12% per
annum?

@3
R
2%
© 2
1
(D) 32

43. The recent UNESCO heritage status has
been given to

(A) Ugadi
(B) Durga Puja
(C) Bihu
(D) Bhadu Song

44. If the cost price of 10 articles is equal to the
selling price of 16 articles, then the loss per cent is

(A) 37-5%
B) 30%
(©) 42:5%
(D) 45%

45. Anamount will double itself in 16 years at
a certain rate of simple interest per annum. The
rate of interest per annum is

(A) 10%
6Ll
®)- 6%
(©) 8%
1
(D) _1’2.5%

41, @eicEe vl ke svgg ww
(A) Ffem s
(B)
(C) coifaam
(D) ©ffsd

42. TS I 3000 BIFIE AHES 12% 07 7w
% 1080 BIst 1 2
A) 3

1
(B) 25

©) 2

1
D) 3 )

43. 7efe |WEE'T 4% Q@ @ @Qﬂﬁﬁ@
heritage S (76T o1

(A) ©aiif

B) 7off =fe
(C) =

(D) i o=

4. 10% 729 FTE AW 166 Iew Rerraera

A ¥, O \o3al whe 28

(A) 37-5%
(B) 30%
(©) 42:5%
(D) 45%

45.. 3N 77e 3 R 2 16 32 @i St
T fRed =1, AT e o R =
(A) 10%

1
®) 64%
(C) 8%

g
(D) 122‘7




46. Findthelastterminthefollowing numbers:
230, 246, 271, 307, ?
(A) 412
(B) 356
(C) 518
(D) 612

47. 75% of anumber when addedto 75 isequal
to the number. The number is

(A) 150
(B)- 200
(C) 225
(D) 300

48. The supreme insurance regulator of Indiais
the

(A) IRDA
(B) PFDA
(C) CRIDA
(D) CRISIL .

49. The Asiatic Society of Calcutta was founded
in the year .

(A) 1784

(B) 1785

(C) 1786

D) 1792

50. Who was killed by the ‘Deccan Ulcer’?
(A) Akbar
(B) Babur
(C) Aurangzeb
(D) Shah Jahan

/
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46. TR FAehE er Wb A @ s
230, 246, 271, 307, ?
(A) 412
(B). 356
(©) 518
(D) 612

47. (I FRAT T5% T 75-99 0T @9 1
2, O WG A T | TR =
- (A) 150
B) 200
(©) 225
(D) 300

48. SESIRE AT A FAES A A =
(A) IRDA
(B) PFDA
(C) CRIDA
(D) CRISIL

49, Feriel s (M GG i afefre
=
(A) 1784
(B) 1785
(C) 1786
@) 1792

© 50, MEFFNCGE WO Q@IN NHET [P T
TR '

(A) =T

®) T

(C) SeaTT

(D) *R &=
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51. The Doctrine of Lapse was introduced by
(A) Lord Cornwallis
(B) Lord Wellesley
(C) Lord Dalhousie
(D) Lord Clive

52. The selling price of an article is Rs. 1920
and the discount given is 4%. The marked price of
the article is

(A) Rs. 2400
(B) Rs. 2000
(C) Rs. 1600
(D) Rs. 1200

53. A mixture of 40 litres of milk and water
contains 10% of water. How much water must be
added to make the water 20% in the new mixture?

(A) 10 litres
(B) 7 litres
(C) 5 litres
(D) 3 litres

54. If78is divided into three parts which are in

the ratio 1 : %— : é, then middle part is
1
A) 9=
(A) 3
(B) 13
1
C) 17—
(&) 3

' 1
(D) 183

55. Kabuliyat and Patta were introduced by
(A) Akbar
(B) Sher Shah
(C) Babur
(D) Aurangzeb

B-12

51. Foifds Rt e R Seree B -
(A) 16 FelEm
(B) 16 C@EMR
(C) F6 e
(D) =76 FiZe

52. GG <0 T@H REFTED =0 1920 Bra @3

4% TPIT oreal 2x | I8BY Gy =0 -~

(A) 2400 T
(B) 2000 Bt
(C) 1600 it
(D) 1200 5=t

53. 74 ¢ WA &3 40 T Rt 10% &
TR | AR ST ) T T e 20% o
I ?

(A) 10 feE
(B) 7 e
(C) 5o
(D) 3

54. 3w 78 MYt oAb wwed Rew w1 =,

T AN 1 % : %,wﬂ’dﬁﬁﬁ@

1
) 93

(B) 13
1
© 175

1
(D) 185

55. YRS 6 S T @ =T Bl A Tl
2EW

(A) ST
(B) CTER
(C) =

(D) =eaTTa

.
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56. The Prime Minister of UK is
(A) David Cameron
(B) Boris Johnson
(C) Rishi Sunak
(D) Teresa May

’57, The upper limit for West Bengal Student
Credit Card Scheme is '

(A) Rs. 20 lakhs
(B) Rs. 15 lakhs
(C) Rs. 10lakhs
(D) Rs. 5 lakhs ¢

58. If _5*2=L . then find the value of *.
122 ' :

(A) 25

59. Bill Gates and Paul Allen are associated
with one of the following institutions:

(A) Google.
(B) Apple
(C) Microsoft
(D) IBM

60. Beri-Beri disease is on account of the
deficiency of

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

BMRI/22

56, JEANEH AT ZEW
(A) ofST e
B) 3 T
(OIRUEAGES
(D) 5TEH X

57. emﬁ@mﬁzﬁ@%ﬁﬂémmmwsﬁ _

(A) 20 &% Sist
(B) 15 &% Bit
" (O 1057% B
(D) 5= Bit

7, O *-ag 9l e et

58, ff 0 _ _*
%

12l
2

25
2

4
(3)2—5

€ 4
(D) 25

(A)

59, f3E1 (5l6% =R o SICE 9T AN @ Ao
ALY & 8 :
(A) Google
(B) Apple
(C) Microsoft
(D) IBM

-60. B BT o @Rl @R
B

(A) TouifE A

(B) feofim B

(C) feofm C - :

(@) RORED 7
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61. The Hirakud Dam is situated on the river 61. fEarem Sy @ M9 g T TAE
(A) Godavari (A) ¢St
(B) Krishna . B) T
(C) Cauvery ©) TR
(D) Mahanadi
(D) =R

62. The Hindu College was founded in the year 62. =9 Fe1m afffee g@les @ A
(A) 1818 | (A) 1818
(B) 1817 .(B) 1817
(C) 1819 _ (C) 1819

(D) 1820 (D) 1820

63. The Reserve Bank of India was founded in 63. Sigred TS g dfefe =
(A) 1935 | (A) 1935

(B) 1934 B) 1934
(C) 1936 {C) 1936
(D) 1937 (D) 1937

-

64, The 25th term of the series 2, 5, .10, 17, 64. 2,5, 10, 17, 26, ... Gifewitg 2597 »wis =1
26, ... is (A) 626
(A) 626 (B) 323
(B) 323 (C) 424

5z o

65. 1 % of A = 75% of B = 06 of C, then 65. W A-a7 %: B9 75% = C—<q 0-6, &4«

A:B:Cis




66. A train 280 m long is moving at a speed of
60 km/hr. What is the time taken by the train to
cross a platform 220 m long?

(A) 45 sec
(B) 30sec
(C) 40 sec
(D) 35 sec

67. The sum of four consecutive even numbers
is 748. The smallest among them is

(A) 188
(B) 186
(C) 184
(D) 174

68. The value of xwhen 5% of /2 x is0-01 will
be

(A) 003
(B) 0-02
(C) 0-01
(D) 005

69. Thelargestnumberamong2-6,2-066,2-66,
208 is
(A) 26
(B) 266
(C) 2-066
(D) 208

70. The Aravalli Mountains are located in
(A) Jharkhand
(B) Rajasthan
(C) Afghanistan
{D) Bihar

B-15
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66. 280 51 rfy® =l G 60 /51 st
i1 | 220 517 tiedia @3l Aive s wives sace
GAoR T AT o 2

(A) 45 GTT®
(B) 30 CTTS
(C) 40 CTTS
(D) 35 Cie

67. <19 +F IR (@T HAF 7R 748 | ©Io@
T I ARG ==
(A) 188
(B) 186
(C) 184
(D) 174

68. T4 2 x 99 5% 0 0-01, S x-JA TS
(A) 0-03
(B) 0-02
(C) 001
(D) 005

69. 2:6, 2-066, 2-66, 2-08 FRANGTFT TP 0T
TRAI® ==
(A) 26
(B) 2-66
(C) 2-066
(D) 2-08

70. SRE! LR @ w1
(A) TS
(B) drerzg=
(C) st
(D) ==
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71. The UNESCO Award for Kanyasree had
been given to

(A) Andhra Pradesh
(B) Tamil Nadu
(C) West Bengal
(D) Assam

72. The Small Pox Vaccine was invented by
(A) Joseph Lister
(B) Ronald Ross
(C) Edward Jenner
(D) Jonas Salk

73. If ab, be, x and ¢? are in proportion, then
find the x, if none of these is equal to zero.

(A) a%c
(B) c2a
(C) ac

(D) a?¢c?

74. Sea Salt contains
(A) Protein
(B) lodine
(C) Nicotine
(D) Vitamin

75. The United Nations Day is celebrated every
year on

(A) October 25
(B) October 24
(C) September 5
(D) July 4

B-16

71, T eww Soeew wfElRe e
BTCE'T A (AT TFS A W

(A) ST
(B) oifieig
(C) AMswam
(D) =

72. & rE B e am 2=
(A) @ @
(B) cRis %
(C) oS (@3
(D) (& 37E

73. @ ab, be, x ' 2 SHAITS ANE, T x-43 T+
faefa ata, @A et B == w73
(A) a’c
(B) c2a
(C) ac
(D) a?c?

74. e e @ Ao el oftewt @
(A) c2ifoa
(B) wifes
(C) Tt
(D) febifim




76. If the numerator of a fraction is increased
by 20% and the denominator is decreased by 10%,

the value of the fraction is
fraction is

(A)
(B)
©)

(D)

W |W LN 3 =W

77. The Nobel Prize for Literature in 2023 has
been awarded to

(A) James Cameron
(B) Orhan Pamuk
{C) Jon Fosse

(D) Ben Okii

78. Amanbuyssome articlesatRs. P perdozen

P :
and sells them at Rs. ‘g per piece. His profit

per cent is
(A) 30%
(B) 40%
(C) 50%
(D) 60%

79. ONGC is involved in
(A) Space Research
(B) Medicines
(C) Oil Exploration
1

(D) Defence
80. (B) thof (%) thof a number is 240, What

is the number?
(A) 12
(B) 1200
(C) 48
(D) 4800

1
51 - The original .
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76. T 9B SRR = 20% I =W GR=H

, 16
10% P =1, S Saba w2 5 1 sl
£

A)
(B)
©
D)

W L b 3| -

77. 2023 it A1fReS R Giicee weme st =t ¢
(A) (S FIGEA
(B) 63 AT
(©) @ T
(D) @ TR

78. 9F & G v & P B @R @3

&= &= % b [iE @ | ol *ewal Ao 5
(A) 30%
(B) 40%
(©) 50%
(D) 60%

79. ONGC g6 @ e 7x T&
(A) TEEH sicggHl
(B) 83y
(C) Te P
(D) elfs!

80. IR (%)ﬂg [%
& TG Fo 7

(A) 12

(B) 1200

() 48

(D) 4800

JW(‘T‘JﬁMO?GI,
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81. By selling an article for Rs. 1400 a man lost
30%. At what amount should he have sold it to gain
- 30%1?

(A) Rs. 2600
(B) Rs. 1500
(C) Rs. 1800
(D) Rs. 2000

82. Bagha Jatin was the nickname of
. (A) Narendranath Bhattacharya
(B) Jyotindranath Mukherjee
(C) Troilokka Maharaj
" (D) Bipin Chandra Pal

83. A boat can run 13 km/hr in still water and
speed of current is 4 km/hr. In how many hours the
boat will cover 68 km downstream?

(A) 2
®) 3
{C) 5
(D) 4

84. One Horse Power is equivalent to
(A) 745 watts
(B) 746 watts
(C) 750 watts
- (D) 751 watts

85. The volumes of two cylinders are in the
ratio 3 : 8 and their heights are in the ratio 2 : 3.
'Then the ratio of their radius is

(A) 3:8
(B) 4:3
© 2:3
@) 3:4

81, @3 37 1400 Hrow RiFr Tam 9 Ifex
30% e e | o by 19 RfE T 6
&7 30% e g6 °?

(A) 2600 B
(B) 1500 B
(C) 1800 Brat
(D) 2000 Tt

82. FRGRe @ ITTem T #fabe
B,
(A) e eER
(B) cepifeamia &t
(C) = Sy
(D) R o e

83. «3f R FmEeE fozm 13 B/ e%r g
AnT q=e oS @ 4 [hi/as @it S
G 68 R (It T B! AT AN 2

(A) 2
(B) 3
(C) 5
(D) 4

84. «3 TP 2o
(A) 745 watts

(B) 746 watts

(C) 750 watts

~ (D) 751 watts

85. 7 Pifereras wmers Tals 3 : 8 ¢t
I THOI SAS T 2 : 3 [T TP SAATS
==

(A) 3:8
B) 4:3
(C) 2:3
(D) 3:4




86. The Earth consists of three-fourth water

and one-fourth land, which is

is

(A) false '

(B) true

(C) partly true

(D) not scientifically proved

- 87. Insulin is secreted from

(A) Liver
(B) Pancreas
(C) Stomach
(D) Brain

(2:3)* ~0-027

88. Whatisthe valueof ?

(2-3)° +0-69+0-09
(A) 03
®B) 23
1
D) 2

89. If the ratio of the cost price and the sale
price of an article be 5 : 6, the percentage of gain

(A) 25%

(B) 20%

(C) 18%
D) 15%

90. The book Arthashastra was written by

(A) Baudhayana
(B) Chanakya

. (C) Panini N

(D) Patanjali

B-19

86, “JfAAT & ©ol o R @F O T, R

Sfeh ‘ '
(A) =PIy
(B) 1oy
(C) =i ey _
(D) @I tassie fofe %

/4

87. STfe *REH (A W (AT Rove =

A) fem
(B) BT
(©) irEaf
(D) W%

(23)* -0-027
88, — ~6 A o2
(2-3)° +0-69+0-09
(A) 03
(B) 23
© 1
(D) 2

89. ﬂﬁ@mwmeﬁmwﬂm

T 5 1 6, O NS Ao I
(A) 25%
B) 20%
©) 18%
(D) 15%

90, S<Iig SEHT T ZE
(A) e
(B) ity
© «f¥f%
(D) ~ieg

Please Turn Over
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91. Discovery of India was the work of
(A) Mahatma Gandhi
(B) Kalidas
(C) Jawaharlal Nehru
(D) Badshah Khan

92. If738A6A isdivisible by 11, then the value
of A is

(A) 6
(B) 9
o 3
(D) 1

93. The present Secretary-General of UNO is
(A) Kofi Annan
(B) Butros Butros Ghali
(C) Antonio Guterres
(D) None of the above

94, Two successive discounts of 10%, 20% are
given on the cost price of an article. Selling price
now is Rs. 720. Cost price of the article is

(A) Rs. 1000
(B) Rs. 1200
(C) Rs.900

(D) Rs. 1100

95. Seismograph is used for measuring
(A) Tsunami
(B) Earth Quake
(C) Volcanic Eruption
(D) Cyclone

91. ‘foreia o R 48ha @ 2w
(A) =1 SR
(B) @ifem
(C) ©ezdele (A as
(D) I A=

92. 7 738A6A 722G 11 @t fFere =, o349
A~ F =W
(A) 6
(B) 9
(C) 3
(D) 1

93. IEANA AFAWI TLHDBI e
(A) @ S
(B) @GP @1 wife
(C) wirgifAe wreEs
(D) Toiraa @02 7

94, (P IEI FWLENT ©AT AR @IS
AT 10% 6 20% et 6% I3 ey 20 720
Bil | €% TFT FIT A

(A) 1000 It
(B) 1200 B
(C) 900 Gt
(D) 1100 Gt

95, e T3t @ e T IS
(A) T AeFREae
(B) g&=in sifaist
(C) wyesire
(D) 9 3L Foiwad




96, The difference between the simple and
compound interest on a certain sum of money for
2 years at 4% per annum is Re. 1. Find the sum.

(A) Rs. 630
(B) Rs. 620
(C) Rs. 625
(D) Rs. 635

97, The ratio of the quantities of a acid and
water in a mixture is 1 : 3. If 5 litres of acid is
further added to the mixture, the new ratiobecomes
1: 2, the quantity of new mixture in litres is

(A) 32
(B) 40
(©) 42
(D) 45

98. Thespeed ofabusis 72km/hr. The distance
covered by the bus in 5 seconds is

(A) S0m
(B) 745m
(C) 60 m

(D) 100 m

99. The single discount, which is equivalent to
three successive discounts of 25%, 20% and 10%
is

(A) 46%
B) 54%
(©) 55%
(D) 45%

100. A and B together can do a piece of work in
12 days while B alone can finish it in 30 days. A
alone can finish the work in

(A) 15 days
(B) 18 days
(C) 20 days
D) 25 days

B-21
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96. Tag wfstiel B 2 Terad 3RS 4% Q@ 5=
TG BT BITH I S 2 1 51t | Bt wifgsiet
fRefr 3t

(A) 630 B
(B) 620 %=A
(C) 625 5t
(D) 635 B

97. Wife ¢ wEE Afem fs amsis
1: 3 3 feyflice 5 60 <oiffre e @iet =t
o, g fieeifba Srpsite <7 1 : 2, o g Reefoa
v sifssst =g .

(A) 32
(B) 40
(€) 42
(D) 45

98. <l T Sife =@ 72 /a5t I 5
CTICS (@ Y Sy FIE—

(A) 50T
(B) 745 fioim
(C) 60F%ER
(D) 100 filt"

99, ¢ CIET, T foab T s

25%, 20% <9 10%-97 FI =, O T
(A) 46%
(B) 54%
(C) 55%
D) 45%

100. A8 B 0 G 12 e @ @A B G763
TG 30 M 18 T | A G9! 62 IS 1R TR@

(A) 15T=
(B) 18 M
(©) 20w
(D) 25 T
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Answer all the questions.
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..1. Megasthenes was the author of
(A) Milinda Panho
(B) Indika
(C) Periplus
(D) Tarikh

2. One Horse Power is equivalent to
(A) 745 watts
(B) 746 watts
{C) 750 watts
(D) 751 watts

3. A mixture of 40 litres of milk and water
contains 10% of water, How much water must be
added to make the water 20% in the new mixture?

(A) 10 litres
(B) 7 litres
(C) 5 litres
(D) 3 litres

4. Bill Gates and Paul Allen are associated
with one of the following institutions:

(A) Google
(B) Apple
(C) Microsoft
(D) IBM

5. A boat can run 13 km/hr in still water and
speed of current is 4 km/hr. In how many hours the
boat will cover 68 km downstream?

(A) 2
B) 3
© 5
(D) 4

C-2

1. (SicEreT wiEl ik avgg
(A) Tifer simc
(B) gl
(C) coifaa
(D) <ifsd

2. O e 7w
(A) 745 watts
(B) 746 watts
(C) 750 watts
(D) 751 watts

3. 74 8 T G0 40 FvrE e 10% &
igg | B AT T @i FEE oA R 20% S
QYL ? : -

(A) 10 feivg
(B) 7 fibta
(©) s oI
(D) 3 &R

4. R (ol591 @R o1 SOIeT @R A @ A
AL TE ¢
(A) Google
(B) Apple
(C) Microsoft
(D) IBM

5. 9 e R Ee sfe e 13 fhl/ebiaae
WM I 6 =W 4 BN/ ame s
i 68 i @ T 96! TN A6 ¢

(A) 2
(B) 3
©) 5
D) 4




6. The Arabari Model for Forest Conservation
was undertaken in the state of

(A) Odisha
(B) West Bengal
{C) Kerala
(D) Sikkim

7. Discovery of India was the work of
(A) Mahatma Gandhi
(B) Kalidas
(C) Jawaharlal Nehru
(D) Badshah Khan

8. Findthelastterm in the following numbers:
230, 246, 271, 307, ?
(A) 412
(B) 356
(©) 518
(D) 612

9. The Jaldapara Reserve Forest is located in
(A) Assam
(B) Odisha
(C) West Bengal
(D) Nagaland

10. The recent UNESCO heritage status has
been given to '

(A) Ugadi
(B) Durga Puja
(C) Bihu
(D) Bhadu Song

C-3:
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6. T AITHET o MRS 2w ey
AT 2T T

(A) sfe=
(B) AREwTH
()
(D) Pl

(A) T2 ot

(B) Hifemix

(C) TSI R
(D) Itz A

8. fFafRe mutelrm R Wb Rt ot ¢
230, 246, 271, 307, ?
(A) 412
B) 356
(C) 518
(D) 612

9, TEWMIANG SISAIRY @ A0y S=_FS
(A) Sy
(B) e
(C) “foTa
D) AT

10. 7S P[rE’s 4F (AT @ SFAHE

heritage & (8T =W

(A) - Bt

B) 7off <=t
©) f=

(D). eI A
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#1@Kabiiliyat and Patta were introduced by
(A) Akbar
(B) Sher Shah
(C) Babur
(D) Aurangzeb

12. Amanbuyssomearticles atRs. Pperdozen

P .
and sells them at Rs. “g" per piece. His profit

per cent is
(A) 30%
(B) 40%
" (C) 50%
D) 60%

13. The Small Pox Vaccine was invented by
(A) Joseph Lister
(B) Ronald Ross
(C) Edward Jenner
(D) Jonas Salk

14. The selling price of an article is Rs. 1920
and the discount given is 4%. The marked price of
the article is-

(A) Rs. 2400
(B) Rs.2000 -
(C) Rs. 1600
(D) Rs. 1200

15. Loktak Lake is located in the state of
(A) Sikkim

(B) Manipur

(C) Nagaland

(D} Mizoram

C4

11. SFRe @ AT I3 @ *FE bleg 0w ol
2
(A) ST
(B) (R *iiz
(C) IT
(D) SNSATEA

12. «% P& & vEA FFF P Siom W 9

e T g B AR 0 | o e S

(A) 30%
(B) 40%
(©) 50%
(D) 60%

13. &b Prsy Bore it A 2=
(A) @& o
(B) GAIMIES 7
(C) qBSeAE (FAIF
(D) (@A 7T

14. @I 3T T8 [Reresey = 1920 i @R

4% TEIET (rent T | TEHA KT |
(A) 2400 5

(B) 2000 5!
(C) 1600 Bt
(D) 1200 it

15. (%1 B0 (X Fitey S_Ee
(A) Fifew
(B) wisf"
(C) wsiTre
(D) Fraram




16. A and B together can do a piece of work in
12 days while B alone can finish it in 30 days. A
alone can finish the work in

(A) 15 days
(B) 18 days
(C) 20days
(D) 25 days

17. If78is divided into three parts which are in

the ratio 1 : -;- : %, then middie part is

1
(4) 95

®B) 13

1
171
© 73

1
(D) 183

18. The book Arthashastra was written by
(A) Baudhayana
(B) Chanakya
(C) Panini
(D) Patanjali

19. If the cost of 18 chairs is equal to selling
price of 16 chairs, then the gain percentage is

(A) 12:5%
(B) 13%
(C) 13-5%
(D) 14%

20. The sum of four consecutive even numbers
is 748. The smallest among them is

(A) 188
(B) 186
(C) 184
(D) 174

C-5 . BMRI/22

16. A8 B «af5 1% 12 1 S0 @I B 31 9%
e 30 M 91 I | A <1 €2 FIE 17 T

(A) 15TE
(B) 18 e
(C) 20fA
(D) 25 fts

17. 9 78 YBE = =t Ko 91 =3,
WW%I:%:%,WSWWQ?I
| _
A) 9=
(A) 3
(B) 13

1
© 173

1
(D) 185

18, Sy 2T EHT
(A) (TEw
B) B4
(C) =
(D) +ogf

19. 3w 18 G¥ET FEEn 166 AiER
(A) 12:5%
(B) 13%
(C) 13-5%
D) 14%

20. #9 o9 oAl oG AP TR 748 | OITE
W (R TR 23
(A) 188
(B) 186
(C) 184
(D) 174
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21. Thelargestnumber among 2-6,2-066, 2-66,
2:08 is
(A) 26
B) 2:66
(C) 2066
(D) 208

22. Who was killed by the ‘Deccan Ulcer’?
(A) Akbar
(B) Babur
(C) Aurangzeb
(D) Shah Jahan

23. The present Secretary-General of UNO is
{A) ‘Kofi Annan
(B) Butros Butros Ghali
(C) Antonio Guterres
(D) None of the above

24. APJ Abdul Kalam was a famous
(A) artist
(B) scientist
(C) chemist
(D) actor

25. TheFirst General Elections were conducted
in Independent India in

(A) 1951
(B) 1952
(C) 1953
(D) 1954

21. 26, 2:066, 2-66, 2-08 FANSHH JF AT
FRYIG == :

(A) 2:6

(B) 2:66

(C) 2-066

(D) 208

22, wifEFlite HO W X T I
e ?

(A) S
(B) 39

(C) NS
D) R

23. ISAE AFCIR AT ZEW
(A) FIFF S
(B) JGM &M Wi
(C) wrsie wroEw
(D) SRR @e3 7

24, <A SRE TN R a3em 2o
(A) &
(B) T=e
(C) AR
(D) wfetet

25. FAW SrATed AL Ay [deT = @ A
(A) 1951
(B) 1952
(C) 1953
(D) 1954




26. The United Nations Day is celebrated every
year on

(A) October 25
(B) October 24
(C) September 5
(D) July 4

27. If ab, be, x and ¢2 are in proportion, then

find the x, if none of these is equal to zero.
(A) a%c
(B) c’q
©) ac .
D) ac?

28. Sea Salt contains
(A) Protein -
(B) Iodine
(C) Nicotine
(D) Vitamin

29. The Hindu College was founded in the year
(A) 1818
(B) 1817
(C) 1819
(D) 1820

30. What is the smallest number that must be
added to 1780 to make it perfect square?

(A) 39
(B) 69
(©) 59
(D) 49

[
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26. AigHRE et sifers 2w Afdmrsg
(A) 25 SFRR
(B) 24 S3RY
(C) 5CNER

(D) 4T

Ry

27. I ab, be, xS C2 S AT A, I x- 9T A
e TR, QR I F2GIB =47y 71|
(A) a?c
(B) ¢2a
{C) ac
(D) a?c2

28. Aius = @ A +md <heat T
(A) ceifbs
(B) e
©) Frton
(D) febifim

29. o o aifofde wafee @ i
(A) 1818
(B) 1817
(C) 1819
(D) 1820

30. 1780 YT AL TATF T© @9 FAE
B g3 Afefasf e TR
(A) 39
(B) 69
(C) 59
(D) 49
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31. The Calcutta Medical College was
established in the year

(A) 1834

(B) 1835
. (C) 1838

(D) 1839

32. The single discount, which is equivalent to
three successive discounts of 25%, 20% and 10%
is

(A) 46%
B) 54%
(©) 55%
D) 45%

33. A train 280 m long is moving at a speed of
60 km/hr. What is the time taken by thé trairi to
cross a platform 220 m long? T

(A) 45 sec -
(B) 30sec
(C) 40 sec
(D) 35sec

34. The Sreerampore Trio comprised of
(A) Clive-Watson-Watts
(B) Carey-Marshmaﬁ-Ward
(C) Lal-Bal-Pal
(D) Hastings-Cornwallis-Shore

35. The Right to Speech is considered as
(A) Fundamental Duty
(B) Fundamental Right
(C) Fundamental Policy
(D) Sacred Right

31. s At Tee Aoibe s |
S
(A) 1834
(B) 1835
(C) 1838
(D) 1839

32. 93l s, @ foal awee Ties

25%, 20% R 10%~97 N T, ©f JF
(A) 46%
(B) 54%
(C) 55%
(D) 45%

33. 280%?:%@@%@60%&/%@ et
sifeRet | 220 RiR W it b Sfeaw Tars
GRGT F© WY eTaita?

(A) 45 G
(B) 30 CTTT
(C) 40 G
(D) 35 TS

34. Satasig @it ey T3 sAffos oA
(A) FIZS-eqGHR-GH
(B) FiE-wrfai-aaré
(C) FE-E-4E
(D) FBE-=fenifFm-eig

35. g TR AT T e
(A) Gifss wite
(B) chfers wfgia
(C) chfss S
(D) @ =g

&
-




(2-3)° -0-027

36. Whatisthe valueof 2 ?
(2-3) +0-69+0-09
(A) 03 '
(B) 23
)1

D) 2

37. Thevalue of xwhen 5% of /2 x is0-01 will
"be .
(A) 003
(B) 0062
(C) 001
(D) 005

-

38. Seismograph is used for measuring
(A) Tsunami B
(B) Earth Quake
(C) Volcanic Eruption
(D) Cyclone

39. Pratapaditya was the ruler of
(A) Jharkhand
(B) Jessore
(C) Barisal
(D) Natore

40, Thespeedofabusis 72 km/hr. The distance
covered by the bus in 5 seconds is

(A) 50 m
(B) 745 m
(C) 60m
(D) 100 m

36.

.

37. Y /2 x 9T 5% 0-01, S x- 9T I

BMRI22,
(2-3)° —0-027 'ﬂ;ﬂﬁw de
- < ? !
(2:3)° +0-69+0-09
A) 03
®) 23
© 1
D) 2

(A) 003
(B) 0:02
(©) 001
(D) 0:05

38, Prmiare T2 o FI0w o T99S

(A) I A
(B) g3l sifettst
(C) =esite

(D) ¥ I FeFat

|39, Zeisiiftey @ I0ETE A1 R

(A) IS
B) T
(C) =
(D) =G

40. <36 I A% T 72 [h/as =% 5

(@ =g Siory FHE—
(A) 50 R

(B) 745 oI

(C) 60 fBim

(D) 100 vt
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4% The Capitali of British India was shifted

from Calcutta to Delhi in

(A) 1910
(B) 1911
(C) 1912
(D) 1913

42, DivideRs.450 among A, B and C such that
A:B=2:3andB:C=6:5. Share of Cis

been

44,

(A) Rs. 90
(B) Rs. 100
(C) Rs. 150
(D) Rs. 120

43, Thelast and the tenth Guru of the Siktis had.

(A) Guru Teg Bahadur . "~
(B) Guru Hargovind

(C) Guru Gobind Singh

(D) Guru Har Kishan

The Earth consists of three-fourth water

and one-fourth land, which is

45,

(A) false

(B) true

(C) partly true

(D) not scientifically proved

The Doctrine of Lapse was introduced by
(A) Lord Cornwallis

(B) Lord Wellesley

(C) Lord Dalhousie

(D) Lerd Clive

C-10

41. RrifFre oo AR EAE TS
e e Feeie =
" (A) 1910
(B) 1911
(©) 1912
(D) 1913

42. 450 BT A, B 4R C-R 0 eeItd Si e
TWETI@A:B=2:34RB:C=6:51Cq
CIUE

(A) 90
(B) 100 5=
(©) 150 %
(D) 120 Bt

43, e e P 92 TR o REw
(A) SF (oI~
(®) oF IR
(C) oF (N B
(D) oF = g

44. <R3 Fot ol T =R ol T, R
Sfel _

- (A) Y
(B) 9
(C) =z ey
(D) e FE B @R

45. FRIitTE Rt Hfon { Teke Rem
(A) =6 wfenifer '
(B) =6 ST
(C) =16 e
(D) =€ FiT®




46. Ascorbic Acid is the scientific name for
{A) Protein
(B) Carbohydrate
(C) Vitamin C
(D) Vitamin D

47. If738A6A isdivisible by 11, then the vahie
of Ais

(A) 6
_ ®B) 9
1 © 3
(D) 1

48. 20% loss on selling price is what per cent
loss on the cost price?

(A) 25%
(B) 15%

© 16%%

D) 16%%

49. The Grant of Diwani was given to the
English East India Company in
(A) 1764
(B) 1765
© 1771
(D) 1772

50. Beri-Beri ‘diseasq is on account of the
deficiency of

(A) Vitamin A

(B) Vitamin B

(C) VitaminC - f
(D) Vitamin D ‘

C-11
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46. ﬁﬁﬁﬁ@ﬂﬁ?mﬁ?ﬁﬁWAw?rﬁic
. Acid- - P
' (A) cafba
(B) ===
(©) f&ufim C
(D) feoifim D

47. I 738A6A AT 11 T3t Rereg 27, o,
AGF IR ‘
(A) 6
B9
© 3
D) 1

" 48. Rermpena Bom 20% = 0@, FagEra
- ol 30 fetex o 732

(A) 5%
B) 15%
© 16%%.

D) 16%%

49. e T TG 296 L @R @
e A T
(A) 1764
B) 1765
© 1771
(D) 1772

. 50, Fisfeide fSoifioe wor Qi-clE aiee
TeH :

(A) FoofRm A
(B) feoifim B
© feofmc . -
®) feoifi D
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51. The Palk Strait separates India from
(A} Indonesia
(B) Sri Lanka
(C) Thailand
(D) Maldives

52. A man bought 20 dozen eggs for Rs. 720.
What should be the selling price of each egg if he
wants to make a profit of 20%?

(A) Rs. 325
(B) Rs. 3:30
(C) Rs. 360
(D) Rs. 350

53. An amount will double itself in 16 years at

a certain rate of simple interest per annum. The
rate of interest per annum is

(A) 10%
(B) 6%%

(C) 8%

D) 12%%

54. Bagha Jatin was the nickname of
(A) Narendranath Bhattacharya
(B) Jyotindranath Mukherjee
{C) Troilokka Maharaj
(D) Bipin Chandra Pal

55, The ratio of the quantities of a acid and
water in a mixture is 1 : 3. If 5 litres of acid is
further added to the mixture, the new ratiobecomes
1: 2, the quantity of new mixture in litres is

(A) 32
(B) 40
(C) 42
D) 45

C12

51, % SR SOIET A @ oIS T A
e <
(A) TR
(B) Her=t
(C) TS
(D) WiEtaret

52. 7205wt @3 i 20 we fow e 1 7
B 20% 1S (+ito 51 O3 &ifeiB for Rermey
oY

(A) 3-25 5
(B) 3-30 Biel
(©) 3607
(D)- 3-50 Ti=l

53, ifde 7 v (AR 20T 16 9= R B
I et @, ART A PR
(A) 10%

 (B) 6%%

(C) 8%
lg,
(D) 129

54, FaRe T TS 2w skbe
e
(A) TEHA SBIHE
(B) cepifonmmia &t
(C) T R
(D) 4= v 41

55. WG @ TR SRNeE ReE owsie
1: 313 fafors 5 Bbim <nife s qet s
o, A P S 71 1 : 2, e gn freieifo
oI wfdmsl =m0

(A) 32
(B) 40
(C) 42
(D) 45




56. The Reserve Bank of India was founded in
(A) 1935
B) 1934
(©) 1936
(D) 1937

57. The UNESCO Award for Kanyasree had
been given to

(A) Andhra Pradesh
(B) Tamil Nadu
(C) West Bengal
(D) Assam

58. The Nobel Prize for Literature in 2023 has
been awarded to

(A) James Cameron
(B) Orhan Pamuk
(C) Jon Fosse

(D) Ben QOkri

' 1).(1Y.(25).
59. Th tof |—|x| —|+| ==
9 e square root o (4))((49) (121) is

(A)

C
St
SRR Sl ol

2 ©
(D)

60. In how many years will a sum of Rs. 3000
yield a simple interest of Rs. 1080 at 12% per
annum?

(A) 3

1
(B) 25
©) 2

1
@) 37

C-13
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56. ooy fTus % 2fefre =
(A) 1935
(B) 1934
(C) 1936
(D) 1937

57. I 9w Comrw FEkiRe @R
TEWH'T o (U ATFE T
(A) ST
(B) OIfFmIG
(C) siffowre
(D) &I

58. 2023 et 7ilRgrey R MLt sfie 2 = ¢
(A) CT3PT TG -
(B) @i
©) T
(D) & e

60. TS 1gg 3000 B AHET 12% F7 32w
W 1080 51 T 2
(A) 3
1
| (B) 22
© 2

1
(D) 35
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61. Inan examination, 93% of students passed
and 259 failed. The total number of students
appearing at the examination was

(A) 3700
(B) 3850
(C) 800
(D) 1000

62. The Asiatic Society of Calcutta was founded
in the year
(A) 1784
(B) 1785
“(C) 1786
(D) 1792

63. Ifthe cost price of 10 articles is equal to the
selling price of 16 articles, then the loss per cent is

(A) 37-5%
(B) 30%
(C) 42:5%
(D) 45%

64. The Portuguese were ousted from Bengal
by
(A) Mir Jumla
(B) Shaista Khan
(C) Mir Qasim
(D) Faiz Khan

65. ONGC is involved in
(A) Space Research
(B) Medicines
(C) Oil Exploration
(D) Defence

C-14

61. < AR, 93% TG AT FCAR 9R 259
oW QY (T FAR| GRS G vowd ol
Toifze e e ' '

(A) 3700
(B) 3850
(C) 800
(D) 1000

2. TP aRRBR TR AeTE e,

(A) 1784
(B) 1785
(C) 1786
(D) 1792

63. 10% 23 wwEy W 167 99 Reragera
T T, T4 XSTH TS W .

(A) 375%

(B) 30%

(C) 42:5%

(D) 45%

64, T (AT AP R e

TeHl® T

(A) T gl
(B) *Ntarst 4
(C) g wifHs
(D) @R AW

65, ONGC g/ @ TR AL
(A) TRREE AFEN
(B) €34
(C) o7 TS
(D) =fsasst




66. If% of A = 75% of B = 06 of C, then
A:B:Cis

(A) 9:5:4
(B)9:4:5
(C) 4:5:9
(D) 5:9:4

67. Two successive discounts of 10%, 20% are

given on the cost price of an article. Selling price

now is Rs. 720. Cost price of the article is
(A) Rs. 1000
(B) Rs. 1200
(C) Rs. 900
(D) Rs. 1100

68. By selling an article for Rs. 1400 a man Jost
30%. At whatamount should he have sold itto gain
30%?

(A) Rs. 2600
(B) Rs. 1500
(C) Rs. 1800
(D) Rs. 2000

69. The Hirakud Dam is situated on the river
(A) Godavari
(B) Krishna
(C) Cauvery
(D) Mahanadi

70. The difference of 5-76 and 23 is
(A) 2-54 :
®) 3-73
(C) 3-46
(D) 3-43

C-15

BMRI/22

66, W A-a7 %:B-&ﬂ?{' 75% = C~4% 06, 544
A:B:C®

(A) 9:5:

B) 9:4:

(C) 4:5:

4
5
9

D) 5:9:4

67. O TFT FTTH T AT TS
IS 10% 6 20% fitet 63 37 Rarmpn 20 720

Ol | 6% T TG W

(A) 10005t
(B) 1200 B
(C) 900 B
(D) 1100 Bt

68. S 7@ 1400 BT RS w9 @ TRET
30% % zafee | T Bio 9l R e @2
e 30% =ire zo?

(A) 2600 5
(B) 1500 Bl
(C) 1800Tt=t -
(D) 2000 St

69. fRaigw diy @ AT e%i oredl TR
(A) Rt
(B) 3%
(C) @R
(D) Rt

70. 5-76 € 2-3- G TR W
(A) 2-54
(B) 3-73
(©) 3-46
(D) 3-43
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_71. Ifthe radius of acircleis increased by 10%,
then percentage of increase of its area is

Aa) 17
®) 21
© 12
(D) 15

72. The filament of an electric bulb is made of
(A) Hydrogen
(B) Tungsten
(C) Halogen
(D) Mercury

73. (1%) thof (%) thof a number is 240. What

is the number?
(A) 12
(B) 1200
) 48
(D) 4800

74. Pipe A and B can fill a tank in 10 hours and
15 hours respectively. In how much time will they
together fill the tank?

1
A) 12= hrs.
(A) 2 s

(B) 6 hrs.
(C) 5 hrs.
(D) 4 hrs.

75. If a * b = ab, then the value of 5 * 3 is
(A) 125
(B) 243
(©) 53
D) 15

",
B -

C-16

71. TR @I oe IFE 10% & oM, S
Jefba CrramreEra Jad el
(A) 17
(B) 21
) 12
(D) 15

72. tafes AR Reers @ gd tof (i &
(A) TGS
(B) BIHHH
(C) s
(D) <lEm

73, GO AR (%)«aa [—1%) o] 7 2402,

o[ Ao TS
A) 12
(B) 1200
(C) 48
(D) 4800

74, 4RRA A G2 B, 10 ! 8 15 U0 I

G B <1 T | Oral E S ToR o A

A2

(A) 12% 5t
(B) 69%t
(C) 595!
(D) 4<%t

75. TMa*b=a’ T, O 5 * 3T ANMR
(A) 125
(B) 243
(C) 53
(D) 15




76. Two numbers are in the ratio 3 : 5 and their
LCM is 225. The smaller number is

(A) 45
(B) 60
(C) 75
(D) 90

77. The Shanti Swarup Bhatnagar Award is
given for
(A) Performing Arts
(B) Peace
(C) Science and Technology
(D) Social Service

78. One of the following countries is not a

permanent member of the United Nations Security
Council.

(A) USA
(B) England
(C) China
(D) Japan

79. Insulin is secreted from
(A) Liver
(B) Pancreas
(C) Stomach
(D) Brain

80. A,B and C together can complete a piece of
workin 30 minutes. A and B together can complete
the same work in 50 minutes. C alone can complete
the work in

(A) 60 minutes
(B) 80 minutes
(C) 150 minutes
(D) 75 minutes

C-17
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76. Wb AR GHAS 27 3 : 5 93 O T
T 225 | =1 7S =7
(A) 45
(B) 60
(C) 75
(D) 90

77. =% Tt S 77 T7 & (rew =
(A) st
(B) =iif®
(C) R ¢ =fe
(D) et (i

78. faffie 28l a@ien e sfaaom
I A 7 |

(A) s go=rg
(B) ¥EmiS

(C) B

(D) 9

79. e NAEH @ W (2 e =
(A) frer
(B) eriwferam
(C) =irwgan
(D) wfEs

80. A, B ¢ C g3t @36 9% 30 fifad oon
A | A8 B 9N €% G S0 G om 5@ 1
G FGH =17 FaE

(A) 60 ffvEs
(B) 80 fifics
(C) 150 Ffa
(D) 75 e
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81. If i*Q=_*_. , then find the value of *.

121
2

25
2

4
(B)ig

© 4
(D) 25

(A)

82. 75% of a number when added to 75 is equal
to the number. The number is
(A) 150
(B) 200
(C) 225
(D) 300

83. The volumes of two cylinders are in the
ratio 3 : 8 and their heights are in the ratio 2 : 3.
Then the ratio of their radius is

(A) 3:8
By 4:3
(C) 2:3
(D) 3:4

84. The ratio between two numbers is 2 : 3. If
each number is increased by 4, the ratio between
them becomes 5 : 7. The difference between the
numbers is

(A) 8
B) 6
) 2
(D) 4

85. If the numerator of a fraction is increased
by 20% and the denominator is decreased by 10%,

the value of the fraction is 71" The original

fraction is
(A)
(B)
©
(15)

Lo |l

C-18

81 7 30 - _* =3 e *ag W R TR

* 1
12—
2

25
(A) >

4
® 3%

€ 4
D) 25

82, (FI! TR 75% T 75-49 7R @t T4
=, ©f FRABH T 27 | Wi |
(A) 150

(B) 200
(C) 225
(D) 300

83. 7o Fifersicas SiTeeR SFA 3 @ 8 IR
O ST SRPS 2 2 : 3 1SN A Sesite
=0

84. FR ARG 2 : 3 19 ATSTIRA 4 FCH
3% I, O ST SANS T 5+ 7 IR T S

'yl
(A) 8

(B) 6
(C) 2

(D) 4

85. I 9l A= 7 20% @ AW 9R=F
_ 16
109 g #1i8, wd st i 57 (e
o

(A)

B)

©)

W Lo s 3wk

D)




86. If90% of A =30% of B and B =x% of A,
then the value of x is

(A) 300
(B) 800
(C) 700
(D) 400

87. g of 64 + 30% of ? = 121
(A) 270
(B) 250
(C) 125
D) 225

88. The Aravalli Mountains are located in
(A) Jharkhand
(B) Rajasthan
(C) Afghanistan
(D) Bihar

89. A man sells two chairs at Rs. 120 each and
by doing so gains 25% on one chair and losses25%
on the other. His loss on the whole in Rs. is

(A) 20
(B) 16
(©) 25
(D) 30

90. Thesupreme insurance regulator of India is
the

(A) IRDA
(B) PFDA
(C) CRIDA
(D) CRISIL

C-19 BMRI/22

86, M A~9% 90% = BT 30% @2 B = A-97
x% T, O x99 WiF 77

(A) 300
(B) 800
(C) 700 -
D) 400

87 64-a1 2 + 24 30% = 121

(A) 270
(B) 250
() 125
@) 225

88. WIITE LN @I S
(A) o
(B) W@
(©) i
(D) Rae

89. < & 120 BR 4% G5ART elreral® R
T R G (BTN 25% =11S F09 '8 Seyfiics 259
TS WA 1 G ok 6 = (Br)

(A) 20

(B) 16

(C) 25

(D) 30

90. Srrewr i Rt e ez A =7
(A) IRDA

(B) PFDA

(C) CRIDA

(D) CRISIL

Please Turn Over




BMRI/22

91. The upper limit for West Bengal Student
Credit Card Scheme 1s
(A) Rs. 20 lakhs
(B) Rs. 15 lakhs
(C) Rs. 10 lakhs
(D) Rs. 5 lakhs

92. If the ratio of the cost price and the sale
price of an article be 5 : 6, the percentage of gain
is

(A) 25%
(B) 20%
(C) 18%
(D) 15%

93. A sum of money at simple interest amounts
to Rs. 1350 in 5 years and to Rs. 1620 in 8 years.

The sum of money is
(A) Rs. 700
(B) Rs. 800
(C) Rs. 1000
(D) Rs. 900

94. The 25th term of the series 2, 5, 10, 17,
26, .18
(A) 626
(B) 323
(C) 424
(D) 525

95. 60% students of a school are girls. If the
total number of girls in the school is 690, then the
total number of students in the school is

(A) 1150
(B) 1100
(C) 1200
(D) 1050

C-20

91, TG (T STTD (6 P16 @G oS
s eed A T 2
(A) 20 &% 51!
(B) 15 &% oIt
(C) 107 51
(D) 5 & Bl

92. % (I TEF T 6 REFTET HG#AS
2 5 : 6, T ANSA NS W
(A) 25%
(B) 20%
(C) 18%
(D) 15%

93, 3@ 0 (LA BIRAF 5 LR 1350 Bl 74 @
8 qBCA 1620 Bl 93 27 | €3 B wAfe 28
(A) 700 it
(B) 800 Grt
(C) 1000 it
(D) 900 Gt

94. 2.5.10, 17, 26, ... PiREHa 2593 #4628
(A) 626
(B) 323
(C) 424
(D) 525

95. (I FF WARAE 60% WA | M €2
HE @6 690 T A ACE, I &R FA GO
PG RIS IED

(A) 1150
(B) 1100
(C) 1200

(D) 1050




96. The difference between the simple and |-

compound interest on a certain sum of money for
2 years at 4% per annum is Re. 1. Find the sum.

(A) Rs. 630
@B) Rs. 620
(C) Rs. 625
(D) Rs. 635

97. The two west-flowing rivers of India are
(A) Krishna and Godavari
(B) Brahmaputra and Ganga
(C) Sone and Chambal
(D) Narmada and Tapti

98. The vaccine for Kala-azar was invented by .

(A) Amalesh Tripathi

(B) Upendranath Brahmachari
(C) Hargobind Khorana

(D) Shanti Swarup Bhatnagar

99. The Prime Minister of UK is
(A) David Cameron
(B) Boris Johnson
(C) Rishi Sunak
(D) Teresa May

100. Neel Darpan was written by
(A) Rajanikanta Das
(B} Dinabandhu Mitra
(C) Mukunda Das
(D) Chittaranjan Das

C-21
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96. " g =Afzrael Bt 2 Tegara AT 4% 2@ e
T3 B QTS R OS2 1 51 | B AR
el <z

(A) 630 Sl
(B) 620 Bt
(C) 625 Bt
(D) 635 Bt

97. ©rR0eT v sifésw ST wHg A =
(A) T8 @ (M
(B) TTT @R 5Pl
(€) 9 8 v5a
(D) Tt =2 Wity

98. TR Tl wikmmes 9w &1
(A) ST sty
(B) Srolamenal axmify
(C) =M= i
(D) =¥ Fzret SiGeisi

99. TSNS 24N 2
(A) (ST Tt
(B) 1 T
(C) ¥ oz
(D) GEF ™

100. %ﬁqmﬁww
(A) TGP AT
(B) g fg
(C) ™ wix
(D) foeagw wiw
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Answer all the questions.
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Candidates should read the following instructions carefully before answering the questions:
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This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
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Answers will have to be given in the OMR Sheet supplied for the purpose.

Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
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the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
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-;;;L__ Jf738A6Ais divisible by 11, then the value
of Ais

(A) 6
®B) 9
(C) 3
(D) 1

1".. Insulin is secreted from
(A) Liver
(B) Pancreas
(C) Stomach
(D) Brain

3. If the numerator of a fraction is increased
by 20% and the dehominator is decreased by 10%,

16
‘the value of the fraction is 51 - The original
fraction is

(A)
(B)
©

®)

W o s 2w

4, Two successive discounts of 10%, 20% are
given on the cost price of an article. Selling price
now is Rs. 720. Cost price of the article is

(A) Rs. 1000
(B) Rs. 1200
(C) Rs. 900
(D) Rs. 1100

[

5. Thelargestnumberamong 2-6, 2-066, 2-66,
2-08 is -
(A) 26
(B) 2-66
(C) 2-066
(D) 2-08

1. 1 738A6A 7T 11 79 Retes =7, o=
A9 W
(A) 6

B) 9
©) 3

D) 1

2. TR <FER @ 9 QA R @
(A) ferei
B) <iifem
(©) ~AFEA
- (D) s

3. i 4o wallwIn 79 20% Y #im 9R ==

16
10% 3P #if, ©4F Surba a2 5 1 st
i

(A)
(B)
©

W L QR 3w

D)

4. @FIF TG FHEVT SoIF A P
THRITS 10% @ 20% fieeT 62 <ga Remer 2@ 720
il | 68 T LT W

(A) 1000 Bz
(B) 1200 B
(C) 900 Bt
(D) 1100 5

5. 2:6, 2066, 2-66, 2:08 FYwfE W I
HIT 2e
(A) 2:6
(B) 2-66
(C) 2-066
(D) 2-08




6. The ratio of the quantities of a acid and
water in a mixture is 1 : 3. If 5 litres of acid is
further added to the mixture, the new ratio becomes
1 : 2, the quantity of new mixture in litres is

(A) 32
(B) 40
©) 42
D) 45

7. Bagha Jatin was the nickname of
(A) Narendranath Bhattacharya
(B) Jyotindranath Mukherjee
(C) Troilokka Maharaj
(D) Bipin Chandra Pal

A) =

(B) 25

© 4
D) 25

9. The value of xwhen 5% of /2 x .is 0-01 will
be

(A) 003
(B) 0:02
(C) 001
(D) 005

10, The Earth consists of three-fourth water
and one-fourth land, which is

(A) false

(B) true

(C) partly true

(D) not scientifically proved

- fewee

. Tfef
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6. SUIFE ¢ T A frer s
* 1: 31 3% freibre 5 o spiTe wie s st
mmﬁaﬁawﬂ@ﬂ1 2, wa@ﬁwﬁa
feioiea wifamst =
(A) 32
(B) 40
(©€) 42
(D) 45

7. WeERe IS ARSI T sAfafoe
(A) TR GIE
(B) cuifemIa &

(C) T TRAE
(D) &%= v =

8. %:i o, 94 *-q7 T R I

121
2
25
(A) 7
4
(B) 25
©) 4

9, fozx-&?l‘S%”@OOl S T AL
(A) 0-03

®) 0:02
(©) 001

(D) 0-05

10. “+{RF7 o ©iFt o1 9 9T S T, @R

(A) SPIgy

(B) gy

(C) == ey oo
(D) @ e SR ER

) Please Turn Over
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11. If the cost of 18 chairs is equal to selling
price of 16 chairs, then the gain percentage is

(A) 12-5%
(B) 13%
(C) 13:5%
(D) 14%

12. The last and the tenth Guru of the Sikhs had
been

(A) Guru Teg Bahadur
(B) Guru Hargovind
(C) Guru Gobind Singh
(D) Guru Har Kishan

13. The Prime Minister of UK is
(A) David Cameron
(B) Boris Johnson
(C) Rishi Sunak
(D) Teresa May

14. The single discount, which is equivalent to
three successive discounts of 25%, 20% and 10%
is

(A) 46%
(B) 54%
(C) 55%
(D) 45%

15. A mixture of 40 litres of milk and water
contains 10% of water. How much water must be
added to make the water 20% in the new mixture?

(A) 10 litres
(B) 7 litres
(C) 5 litres
(D) 3 litres

11. I 18% GFis e 160 GmEe
REFaeT T 23, 3 FAI0ed 9P 219 o
(A) 12:5%
(B) 13%
(C) 13:5%
(D) 14%

12. T4 MR i 3 T o R
(A) @%F (99 A
(B) &% T3
(C) o (= e
(D) @% 23 faam

13. JSAEHA ALITND T
(A) (efoT FiE"
(B) af& G
(C) #fF ua
(D) GEa

14. o35 TS, 7t foalb Fase TS

25%, 20% 93 10%-43 A 2T, O 203
(A) 46%
(B) 54%
(C) 55%
(D) 45%

15. 74 @ TEd @3 40 &0 e 10% @
iR | AR T @16 FAE TG = 20% T
AP ?

(A) 10 f&o=
(B) 7 o=
(C) 5 e
(D) 3 feor




16. The selling price of an article is Rs. 1920
and the discount given is 4%. The marked price of
the article is

(A) Rs. 2400
(B) Rs. 2000
(C) Rs. 1600
(D) Rs. 1200

17. Loktak Lake is located in the state of
(A) Sikkim
(B) Manipur .
(C) Nagaland
(D) Mizoram

18. The Palk Strait separates India from
(A) Indonesia
(B) SriLanka
(C) Thailand
(D) Maldives

" 19. The supremeinsufanceregulatorof Indiais
the

(A) IRDA
(B) PFDA
(C) CRIDA
(D) CRISIL

20. The 25th term of the series 2, 5, 10, 17,
26, ...1s N
(A) 626
(B) 323
(C) 424

(D) 525

D5, BMRI/22,

16. mma@aﬁmﬁ@wzoﬁmm\
4% Foies mamt 2 | 7207 SF ‘
(A) 2400 Bt
(B) 2000 Tzt
(C) 1600 Bi=Al
(D) 12005

17, GI%6RF g% (3 FCET WF&G
(A) i
(B) wiefz
(C) TARTIS
D) feE

18. A% 2R eI A @ o Fi
- e v
o (A) 2rAERE

(B) Sers

(C) TS

(D) wFETRe

19, SREAEE M S FaEe wyT AN =
(A) TRDA
(B) PFDA
(C) CRIDA
(D) CRISIL

20. 2, 5, 10, 17, 26, ...
(A) 626
(B) 323
(C) 424
(D) 525

Fifaeita 2597 «mib =7 -
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“21. 1 90% of A =30% of B and B = x% of A, 21. T A~ 90% = B-47 30% 4R B = A~
then the value of x is x% T, O x99 WA 9
(A) 300 (A) 300
(B) 800 (B) 800
(©) 700 (C) 700
(D) 400 D) 400
22, The Jaldapara Reserve Forest is located in 22. TPl STeAEe (@ ey SR_ES
(A) Assam : (A) =T
(B) Odisha (B) &R
(C) West Bengal ‘ if‘:SSF
(D) Nagaland ©
(D) =sttsTr
23, It % of A = 75% of B = 0-6 of C, then 23, 3 A-Ga %: B8 75% = C~47 06, O
A:B:Cis A:B:CZg
(A) 9:5:4 (A) 9:5:4
(B) 9:4:5 (B) 9:4:5
C) 4:5:9 - (C) 4:5:9
D) 5:9:4 M 5:9:4

24. Beri-Beri disease is on account” of the 24, FsfEide it wor @R-ER @R

deficiency of Texw
(A) Vitamin A . B (A) 5w A
(B) Vitamin B B
(C) Vitamin C ®) o B
(D) Vitamin D © ¢
(D) fe5ifi= D

25. The two west-flowing rivers of India are -25, SiEred ‘{% Ao Wﬁﬁ TG AT ==
(A) Krishna and Godavari (A) Ft @ (iRt '
(B) Brahmaputra and Ganga (B) =g < il
(C) Sone and Chambal (©) i @ 5

(D) Narmada and Tapti

(D) Wt 3 wife




26. The Capital of British India was shifted
from Calcutta to Delhi in

(A) 1910
(B) 1911
(C) 1912
(D) 1913

27." The sum of four consecutive even numbers
is 748. The smallest among them is

(A) 188
(B) 186
(C) 184
(D) 174

28. The UNESCO Award for Kanyasree had
been given to .

(A) Andhra Pradesh
(B) Tamil Nadu
(C) West Bengal
(D) Assam

29. The Astatic Society of Calcutta was founded
in the year
(A) 1784
(B) 1785
(C) 1786
(D) 1792

30. The ArabariModel for Forest Conservation
was undertaken in the state of

(A) Odisha
(B) West Bengal
(C) Kerala
(D) Sikkim

BMRI/22

26, ’@ﬁwﬁwmw’amﬁmwm@
A fare gmsfie =@
(A) 1910
(B) 1911
(C) 1912
D) 1913

27. o4 +ig ol (=% AT AN 748 | O
g (Ot eI e '
(A) 188
(B) 186
(C) 184
. (D) 174

28. FIA oFw Coerw FEfEfe e
HOWE'T 7 (AT TS TN
(A) THATH
(B) wifEmIg
(C) Aot
D) &

29. F=Solfye AFEIbE GIRRG @ e dfeRe
- |
(A) 1784
(B) 1785
(C) 1786
(D) 1792

30, I A o fnfERe awh @srD
pracT U T
(A) efe
(B) #A<ou
(C) ==
(D) s
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31.- Meégasthenes was the author of . 31, GeieEe Rl TR aed |

k (A) Milinda Panho ' (A) T e
(B) Indika (B) 25!
(C) Periplus (©) coifiEm
(D) Tarikh

(D) wif¥ -
" 32. The vaccine for Kala-azar was invented by 32. TEEEa Do wiRkeEcEs N =

(A) Amalesh Tripathi (A) SEer iy
(B) Upendranath Brahmachari (B) Srotmd TamiA

(C) Hargobind Khorana

C) &l
(D) Shanti Swarup Bhatnagar (C) ==

(D) 1S T Sioe

33. The Portuguese were ousted from Bengal 33. 5 (A c‘;ﬂgﬁrﬁ‘i{‘{ﬁ AR s
by ' B T
Ec; M.al(sl a ' an | . ®) st <
( ir Qasim . .
(D) Faiz Khan .. SRR
(D) % 4|
34. The volumes of two cylinders are in the 34, @ﬁ Piferetaa e w9 3 @ 8 9
ratio 3 : 8 and their heights are in the ratio 2 : 3. O SHOIT SIS T 2 1 3 | Ol FIAEL S oAS
Then the ratio of their radius is =
(A) 3-8 : (A) 3:8
(B) 4:3 (B) 4:3
C) 2:3 © 2:3
(D) 3:4 D) 3.4
as. % of 64 +30% of ?=121 35. 6499 % + =97 30% =121
(A) 270 _ (A) 270
(B) 250 (B) 250
©) 125 o (© 125
(D) 225 : (D) 225
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41. 75% of anumber when added to 75 is equal
to the number. The number is

(A) 150
(B) 200
() 225
(D) 300

42. The Doctrine of Lapse was introduced by
(A) Lord Cornwallis
(B) Lord Wellesley
(C) Lord Dalhousie
(D) Lord Clive

43, One of the following countries is not a

permanent member of the United Nations Security
Council.

(A) USA
(B) England
(C) China
(D) Japan

44. ONGC is involved in
(A) Space Research
(B) Medicines
(C) Oil Exploration
(D) Defence

45, An amount will double itself in 16 years at
a certain rate of sirnple interest per annum. The
rate of interest per annum is

(A) 10%
lg,

®) 6%

(C) 8%

D-10

41. (IR TP 75% T4 T5-493 705 ot
=, ©f 7eifog 7w = 1 G =@

(A) 150

(B) 200

(C) 225

(D) 300

42, TR R A {7 S e
(A) o6 TeTfEm
(B) =16 SWEFE
(C) =TS T
(D) 6 FRe

43. FsfeRe wigl affeess fRarier st
FM 70y 7|

(A) W ol
(B) &S

(C) B

(D) <ol

44. ONGC 7El & e WA T&
(A) I st
(B) €Y
(C) (et Sprit
(D) afegl

45. 317 72 I (TR 2 16 203 A Bl
% fawdl o7, AT T TR W
(A) 10%

lq,
(B) 6%
(C) 8%

Lo,
®) 12,%

D) 12%%
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46. Amanbuyssome articles atRs. Pperdozen

P
and sells them at Rs. g per piece. His profit

per cent is
(A) 30%
(B) 40%
(C) 50%
(D) 60%

47. Two numbers are in the ratio 3 : 5 and their
LCM is 225. The smaller number is

(A) 45
(B) 60
€ 75
(D) 90

48. A sum of money at simple interest amounts
to Rs. 1350 in 5 years and to Rs. 1620 in 8 years.
The sum of money is

(A) Rs. 700
(B) Rs. 800
(©) Rs. 1000
(D) Rs. 900

(2-3)* —0-027
49. Whatisthe valueof 5 ?
(2-3) +0-69+0-09

(A) 03
(B) 23
© 1
) 2

50. In how many years will a sum of Rs. 3000
yield a simple interest of Rs. 1080 at 12% per
annum?

A) 3

1
(B) 22
© 2

1
D) 32

BMRI/22

46. < IS aF ver BT P 5Om G 9%
P i
6 et g Broel R e | i =l wite =8
(A) 30%
(B) 40%
(C) 50%
(D) 60%

47. % R SIS T 3 1 5 93 SR A2,
T 225 | =IH1 RGIG =
(A) 45
(B) 60
(©) 75
(D) 90

48, 9 W (I 5IE 5 = 1350 B 8
8 T2 1620 BIsl 37 9 | €% Biwa oifdme =
(A) 700 SRR
(B) 800 Si=t
(C) 1000 B
(D) 900 i

(2:3)° —0-027
49. - 49 ST 6T
(23)" +0-69+0-09
(A) 03
(B) 23
© 1
(D) 2

50. ¥ q2gd 3000 BIFE AT 12% F 7
3% 1080 bRl 21 ¢
(A) 3
1
(B) 22
©) 2

1
D) 35
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51, The book Arthashastra was written by
(A) Baudhayana
(B) Chanakya
(C) Panini
(D) Patanjali

52. Seismograph is used for measuring
(A) Tsunami
(B) Earth Quake
(C) Volcanic Eruption
(D) Cyclone

53. The difference between the simple and
compound interest on a certain sum of money for
2 years at 4% per annum is Re, 1. Find the sum.

(A) Rs. 630
(B) Rs. 620
(C) Rs. 625
(D) Rs. 635

54. A man bought 20 dozen eggs for Rs. 720.
What should be the selling price of each egg if he
wants to make a profit of 20%?

(A) Rs.3:25
(B) Rs.3-30
(C) Rs.3-60
(D) Rs. 3-50

55. Neel Darpan was written by
(A) Rajanikanta Das
(B) Dinabandhu Mitra
(C) Mukunda Das
(D) Chittaranjan Das

D-12

51, Sefirg ogfoa TS I
(A) Qg '
(B) i
(C)
(D) =gk

52. FrcnaiT 78l @ e o JI7e W
(A) TR e
(B) T~ sifamst
(C) Tagesire
(D) % 3T Tt

53, %gvlﬁmﬁmazmaﬁw%mm

I 8 5 2R I ASH =4 1 Gl | Bieta oifasiet
Tt T |

(A) 630 Bi=d
(B) 620 5=
(C) 625 B
(D) 6355t

54, 720 BRI O T 20 T &9 Regaeet | 30
ITE 20% &I (00 b1 w3 2ifSf forw Ry
CAUN

(A) 3-25 5/
(B) 3305/
(C) 3-60 it
(D) 3-50 Bi=dt

55, Newel rgfoq @4 e
(A) FEAIE 7
(B) Hag fi

(C) I wH
(D) foeaew 7
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56. Bill Gates and Paul Allen are associated
with one of the following institutions:

(A) Google
(B) Apple
(C©) Microsoft
(D) IBM

57. Ifthe radius of a circle is increased by, 10%,
then percentage of increase of its area is

(A) 17
(B) 21
© 12
(D) 15

. 58. The Calcutta Medical College was
established in the year '

(A) 1834
(B) 1835
(C) 1838
(D) 1839

59. If78is divided into three parts which are in
the ratio 1 : -;— : %, then middle part is
®) 9%
3
(B) 13

1
(© 173

1
D) 18

60. 60% students of a school are girls. If the
total number of girls in the school is 690, then the
total number of students in the school is

(A) 1150
(B) 1100
(Cy 1200
(D) 1050

D-13 L ; BMRI/22

56. 3= ¢af61 @3¢ ﬂaﬁmwaammﬂaﬁ%ﬁ
AL YE 2 '
(A) Google
. (B) Apple
I(C) Microsoft
(D) IBM

57. AW @I 087 TIPS 10% fF A, o"
&a craFeT Jfad oI =@
(A) 17
- B) 21
(©) 12
D) 15

58, IPrel (e e oo sk @
e
(A) 1834
(B) 1835
(C) 1838
. (D) 1839

59. 7w 78 weiftrs &l =i Row w1 7,
Wwﬁm:%:%,mwﬁiﬂ

1
(4) 95

(B) 13
71
© 173

1
(D) 183

60. (I FET WARATE 60% T | 37 @3
FE (M6 690 B WA AUCH, I 62 FE (G
QIR TG =

(&) 1150
(B) 1100
(C) 1200
(D) 1050
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61. The Grant.of Diwani was given to the

English East India Company in
(A) 1764
(B) 1765
(C) 1771
D) 1772

62. The filament of an electric bulb is made of

(A) Hydrogen
{B) Tungsten
(C) Halogen
(D) Mercury

63. The United Nations Day is celebrated every

year on
(A) October 25
(B) October 24
(C) September 5
(D) July 4

64. The Right to Speech is considered as
(A) Fundamental Duty
(B) Fundamental Right
(C) Fundamental Policy
(D) Sacred Right

65. Who was killed by the ‘Deccan Ulcer’?

(A) Akbar
(B) Babur
(C) Aurangzeb
(D) Shah Jahan

D-14

61. CRETINE 7 S 5 3w @A @
HIEE 2w 91 =F

(A) 1764
B) 1765
(©) 1771
D) 1772

62. T qITE TGS @ 4igs (o (At &=
(A) RIS ‘
(B) Biwv
(C) FieIeE=
(D) Am

63. g fram #Aifere <7 eifoTead
(A) 25 WERA
(B) 24 =3
(C) 5 GTTBeA
D) 47T

64. T TATOR BT I w@sfe
(A) CRfers wiftg
(B) Cnfere stz
(€) cifeie Afe
(D) i@ wfg=z

65. It % @R AHAFd TP IR
2rfeE ?

(A) ST
(B) <199

(C) SNeTET
(D) IR &




366, The Hirakud Dam is situated on the river
(A) Godavari
(B) Krishna
(C) Cauvery
(D) Mahanadi

67. Findthelastterminthe following numbers:
230, 246, 271, 307, ?
(A) 412
(B) 356
(C) 518
(D) 612

68. What is the smallest number that must be
added to 1780 to make it perfect square?

(A) 39
(B) 69
(C) 59
(D) 49

69. Pipe A and B can fill a tank in 10 hours and
15 hours respectively. In how much time will they
together fill the tank?

(A) 12% hrs.

(B) 6 hrs.
(C) 5 hrs.
(D) 4 hrs.

70. The Small Pox Vaccine was invented by
(A) Joseph Lister
(B) Ronald Ross
(© Edward Jenner
(D) Jonas Salk
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66. g 4 @ FRw e orem . 10
(A) cotid
(B) T
(C) Jaat
(D) At

67. et Bl cix oW fdf o 2
230, 246, 271, 307, ?
(A) 412
(B) 356
(C) 518
D) 612

68. 1780 FRYIGH AL FAITHF T© Q@ T
TG 93 opefaef Fet o
(A) 39
(B) 69
(©) 59
(D) 49

69. =i A 9} B, 10 Tt 8 15 51T ITm
G Byt f I | ©IFt G304 TS 9T Hyiwf o
FIqY

(A) 12-;- 25!
(B) 6 9%t
(C) 59%t
(D) 4 9%t

-

70. 6 ez Bor ke 9 =
(A) =TT Frsr
(B) Girs
(C) GBS (o
(D) @M &
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71. A,B and Ctogethercan complete a piece of
work in 30 minutes. A and B together can complete
the same work in 50 minutes. C alone can complete
the work in

(A) 60 minutes
(B) 80 minutes
(C) 150 minutes
(D) 75 minutes

72. The ratio between two numbers is 2 : 3. If
each number is increased by 4, the ratio between
them becomes 5 : 7. The difference between the
numbers is

(A) 8
B) 6
©) 2
®) 4

73. Ifthe cost price of 10 articles is equal to the
selling price of 16 articles, then the loss per cent is

(A) 37-5%
(B) 30%
(©) 42:5% .
(D) 45%

74, Discovery of India was the work of
" (A) Mahatma Gandhi

(B) Kalidas

(C) Jawaharlal Nehru

(D) Badshah Khan

75. A boat can run 13 km/hr in still water and
speed of current is 4 km/hr. In how many hours the
boat will cover 68 km downstream?

(A) 2

®) 3
©€) 5

D) 4
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71. A, B'S C 439K <6 @1 30 MG o
TR A8 B G SR 1 50 FifRE e w1 C
G I R FHL

(A) 60 fifwGE
(B) 80 fif
(C) 150 R«
(D) 75 G

72. ABAIR AT 2 : 3 1 IM LTS TRYGI4 TR
R i, S O AT = S 1 7 1R 6 SR
=

(A) 8
B) 6
(C) 2
D) 4

73. 10f g Tagey 3 16/ <& e
(A) 37-5%
(B) 30%
(©) 42:5%
(D) 45%

74. ol o S SEie @130 TEW
(A) TR AR
(B) FifEm™
(C) TETTETE (TP
(D) AT A

75. 93 o EgwE Ao 13 R0 e
g e oA @ 4 JFR/ASH @nes S
il 68 B TS F© 9G] Ty AN ?

(A) 2
®) 3
€) 5
(D) 4
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76. [ﬁj thof (%) thof a number s 240, What

is the number?
(A) 12
(B) 1200
(C) 48
(D) 4800

77. Kabuliyat and Patta were introduced by
(A) Akbar
(B) Sher Shah
(C) Babur
(D) Aurangzeb

“78. 20% loss on selling price is what per cent
loss on the cost price?

(A) 25%
B) 15%

(©) 16%%

D) 16%%

79. By selling an article for Rs. 1400 a man lost
30%. Atwhatamount should he have sold it to gain
30%?

(A) Rs. 2600
(B) Rs. 1500
(C) Rs. 1800
(D) Rs. 2000

80. APJ Abdul Kalam was a famous
(A) artist
(B) scientist
(C) chemist
(D) actor
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76. T AR (Z)ﬂﬂﬁ (ﬁ) oo Tf 240 23;
S RS To
' A) 12
(B) 1200
(C) 48
(D) 4800

77. SRS @ NG TE @ *1F ole waw o
EIGr|

(A) HISg
(B) G
(€) ql4g

(D) SNeITTI

78. Reagers T 20% #S o=, FagE
Tolg o 2o S gae

(A) 25%
B) 15%

©) 16%%

D) 1‘6%%

79._@@ 1400 Siom RfE sam o3 gieg

30% =S zafsT| T Srom <@l Rl saE o
. T 30% e 7o ¢

(A) 26005
(B) 1500 il
(C) 1800 Bist
(D) 2000 St

80. 1Tt S et e et Sire
(a) R&
B) i
(C) =W
(D) wfewet
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81. The square roo of(4) (49) (121) is

(A)
®)

D)

82. The Sreerampore Trio comprised of
(A) Clive-Watson-Watts
(B) Carey-Marshman-Ward
(C) Lail-Bal-Pal
(D) Hastings-Comwallis-Shore

83. The First General Elections were conducted
in Independent India in

(A) 1951
B) 1952
(C) 1953
(D) 1954

84. Sea Salt contains
(A} Protein
(B) Iodine
(C) Nicotine
(D) Vitamin

85. If ab, bc, x and c? are in proportion, then
find the x, if none of these is equal to zero.
(A) da2c
(B) ca
(O ac
D) aict
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82. S 97 e 11 «Afbe fraw
(A) FiRS-SHHAT-STTH
(B) PR-wi-our6
(C) =Ne-IE-7A
(D) &FoE-FHenem-ciia

83. =3 eiaren 2w My o 28 @ A
(A) 1951
(B) 1952
(C) 1953
(D) 1954

84, Sfires FIRTA ¥ v Al ~Avew A
(A) i
(B) SCAIeH
(C) Tife=T
D) feof

85. M ab, be, x'3 c2 SAITS ACEF, OIF -9
Toief T, AN RICT TR 70 =74 |
(A) a’c
(B) c2a
© ac
(D) a2c?




86. One Horse Power is equivalent to
(A) 745 watts
(B) 746 watts
(C) 750 watts
(D) 751 watts

87. If a * b= qP, then the value of 5 * 3 is
(A) 125
(B) 243
(C) 53
O) 15

88. The Hindu College was founded in the year
(A) 1818
(B) 1817
(C) 1819
(D) 1820

89. The recent UNESCO heritage status has
been given to

(A) Ugadi

(B) Durga Puja
(C) Bihu '
(D) Bhadu Song

90. The Reserve Bank of India was founded in
(A) 1935
(B) 1934
(C) 1936
(D) 1937
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86. 9T P == ' ?
(A) 745 watts
(B) 746 watts
(C) 750 watts
(D) 751 watts

87. W a* b =abzz, w4 5 * 399 Wi 77
(A) 125
(B) 243
(C) 53
D)y 15 -

88. T2 werer aifofre zafer cx A
(A) 1818
(B) 1817
(©) 1819
(D) 1820

89. TS T/EE'T % (T @ SORME
heritage S (vaml &

(A) i
(B) wff #{rent
©) =

(D) =g oiF

90. et e g7 2o o
(A) 1935
(B) 1934
(©) 1936
(D) 1937
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--91. If the ratio of the cost price and the sale
price of an article be 5 : 6, the percentage of gain
is

(A) 25%
(B) 20%
(C) 18%
(D) 15%

92. Ascorbic Acid is the scientific name for
(A) Protein
(B) Carbohydrate
(C) Vitamin C
(D) Vitamin D

93. In an examination, 93% of students passed
and 259 failed. The total number of students
appearing at the examination was

(A) 3700
(B) 3850,
(C) 800

(D) 1000

94. AandB together can do a piece of work in
12 days while B alone can finish it in 30 days. A
alone can finish the work in

(A) 15 days
(B) 18 days
(C) 20 days
(D) 25 days

95. The Aravalli Mountains are located in
(A) Jharkhand )
(B) Rajasthan
(C) Afghanistan
(D) Bihar |
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91. 3% (HICA TV FALT @ RPWENT Wil
2 5 : 6, T FITSA *oal T

(A) 25%
(B) 20%
() 18%
(D) 15%

92, FafRe gaibs el ‘Pﬁml Ascorbic
Acid
(A) caifoa
(B) il
(C) B C
(D) fesiim D

93, @3 2Rl 93% T ~IM TR GR 259
T TG (T SCAR) 92 A (it Toud G
Tl fem e

(A) 3700
(B) 3850
(C) 800
(D) 1000

94. A@ B @30 e 12 A T @ B 91 63
e 30 Tt (418 T | A 9 G IR O A

(A) 15 e
(B) 18 WA
(©) 20 =
D) 25 =

95. SFEE] ORI @A SES
(A) Jrede
(B) Az
(C) st
(D) T
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96. Divide Rs.450among A, B and C such that 96. 450D A, B IR C-93 WU GG Siel
A:B=2:3andB:C=6:5. Share of C s FIOYIFA:B=2:3dRB:C=6:51C-47
(A) Rs. 90 SO
(B) Rs. 100 (A) 90 B
(C) Rs. 150 B) 1003
Rs. 120
® (C) 150 5=t
(D) 120 it
97. The diffﬂancc of 5-76 and‘2-§ is 97. 5-76 ¢ é-}tﬂﬁW?ﬂ
(A) 2-54 (A) 2-54
(B) 3'E (B) 3-73
(©) 3-46 (©) 3-46
(D) 3-43 _ (D) 3-43
98. The Shanti Swarup Bhatnagar Awatd is 98. =ifE vewiel ©ibAeIT 7= 19 Gy ore W
given for @) F
(A) Performing Arts - .
(B) Peace . (B) e
(C) Science and Technology ©) e ¢ &y
(D) Social Service (D) =i it

99. A train 280 m long is moving at a speed of 99, 280 FoH onige «of6 G 60 [ /qc.%T @
60 km/hr. What is the time taken by the train to SIS | 220 FiSiE i G 2iisl sfowy Ta0s

cross a platform 220 m long?

9 9 M ?

(A) 45 sec s A) 45::.25
(B) 30sec

(C) 40 sec (B) 30 cirwe

(D) 35sec (© 40 citFs

(D) 35 ¢S

100. The present Secrctary~Gen-eraI of UNO is 100. TS AT =
(A) Kofi Annan A) =
(B) Butros Butros Ghali ®) il af
(C) Antonio Guterres &M G
R TAUTIGS
(D) None of the above (C) wrwife wreomEs

(D) Bz % 7
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